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—_. Coding/Design Questions

— LA @ source codes:
o —UB[]F] Python fi#4: http://www.1point3acres.com/bbs/thread-220456-1-1.html
o L) CH+E:
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= Collatz Conjecture
. Kl 4514
= Design Queue with Limited Size of Array
= List of List (2D List) Iterator
= Display Page (Pagination)
=  Calculator
= Travel Buddy (Buddy List)
= Trie: File System
= Trie: Palindrome Pairs
o Bit Operations
= |P Range to CIDR
. Binary Search:
* Find Median in Large File of Integers
. R P22l
= CSV Parser
= Simulate Diplomacy
=  Water Land
= Hilbert Curve
= Text Justification
=  Regular Experssion



. Time Interval
=  Meeting Time

. Greedy
= Round Numbers
= A*:Sliding Game

° DP
=  Maximum Number a Night You Can Accommodate
. Permutation/Combination/Search(BFS/DFS):

= Find Case Combinations of a String
=  Menu Combination Sum
= K Edit Distance
= Boggle Game
=  Minimum Cost with At Most K Stops
=  String Pyramids Transition Matrix
. Kt
®  Flood Filling: Finding Ocean
= Topological Sorting: Preference List
=  Minimum Verticaes to Traverse Directed Graph
»  HA KRR H4E: 10 Wizards
=  Union Find: Number of Intersected Rectangles
. Calling AirBnB Internal Services
= echo TCP client
=  Guess Number

Coding Exercise:

https://www.hackerrank.com/tests/52d6d0953bddb/357c¢91cd6d50039a74f53a47501e23d7
https://www.hackerrank.com/tests/9e26m70rtfm/cfa8b776a12fb5661055772b4297e8ca

1. Collatz Conjecture

https://en.wikipedia.org/wiki/Collatz_conjecture

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=273149

A SRLE RN, FEAN A BR 2, W EAIEAEAL AR 3*n+1, X TARAMT — DN IES, B &
A=A RL 1, A AN 1, G IR, AEECHTEE R KPR

tedn 7, AR¥E| 1 B0 TR 0 7->22->11->34->17-5>52->26->13->40->20->10->5->16->8->4->2->1,
W 17 5,

Map<Integer, Integer> map = new HashMap<>();

private int findSteps (int num) {
if (num <= 1) return 1;
if (map.containsKey(num)) return map.get (num);
if (num % 2 == 0) return 1 + findSteps (num / 2);
return 1 + findSteps (3 * num + 1);



}

public int findLongestSteps (int num) {
if (num < 1) return 0;

int res = 0;

for (int i = 1; i <= num; i++) {
int t = findSteps(1i);
map.put (i, t);
res = Math.max(res, t);

}

return res;

Collatz Conjecture

2. Implement Queue with Limited Size of Arrays

https://www.cs.bu.edu/teaching/c/queue/array/types.html

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=279191

Design a Queue with arrayList, {EJ& A (Rl 551, arraylist K2~ 10, queue BRI,

A7 B R LT VE AT DA RS array s /G — 1 item 17 F—4> array fJ$54F, IXFEEEA size 4 10 /Y array
AILAF 9 AN, TEZE(R B¥RARERL, (Rl kRS —L,

pop, JoEIMLNY list e — > list B9 RIS, GniR 2 1, M 7 24878 list, 0], a0 A2, IkE1Y F1 list
&E— Ik

push, Fl EIUAARC, AR fa— A list BIR/INE 10, hat AN HTH.

queue M F & F. T, pop YR EEH iterator, H BB IRALAEH — D
push FY I X531

ETRTLLE T circular buffer, &5 a] UL WS4 g

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=215975

implement —/> queue, fEZZRMA int(JfE17, HHH—RAERBM intKEAT LA 5, HSXE
— ANNTESTBCRIRETY, A int[1 W LLE B — 4 block AOHHER, vk 55 200 £ 5o 38 A IRk 25 H
15 %77 B block, remove BYRS B2k Z B block, ArUEMLIEZH linkedlist, Z538FFE TH T tree,
mE BRI FRIX T, i — TR Ak T, AdRarE T,

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=294918

FLSb 2 linkedlist K fg, hAE A E R HETFE H A2 listnode B IE L limied size HY array,
I SX RIS, BEELECRTR T, B — K A linked list fEffEELF T, fPMLE node S limited size
ﬁ?%o



public class QueueWithFixedArray {
private int fixedSize;

private int count;
private int head;
private int tail;
private List<Object> headList;
private List<Object> taillist;

public QueueWithFixedArray(int fixedSize) {
this.fixedSize = fixedSize;
this.count = 0;
this.head =
this.tail =
this.headlLis
this.taillis

new ArraylList<>();

0;
0;
t
t this.headList;

b

public void offer(int num) {
if (tail == fixedSize - 1) {
List<Object> newList = new ArraylList<>();
newList.add(num);
taillist.add(newlList);
taillist = (List<Object>)taillList.get(tail);

tail = 0;
} else {
taillist.add(num);
}
count++;
tail++;

b

public Integer poll() {
if (count == 0) {
return null;
}

int num = (int)headList.get(head);
head++;
count—;

if (head == fixedSize - 1) {
List<Object> newList = (
headList.clear();
headList = newlList;
head = 0;

List<Object>)headList.get (head);

}

return num;

b

public int size() {
return count;
}

Implement Queue with Fixed size of Arrays



3. List of List (2D List) Iterator

Leetcode FHALLjn] /i
e |eetcode #251 Flatten 2D Vector
e |eetcode #341 Flatten Nested List Iterator

For example, Given 2d vector = [ [1,2], [3], [4,5,6] ]

By calling next repeatedly until hasNext returns false, the order of elements returned by next should be:

(1,2,3,4,5,6].

e boolean hasNext() return true if there is another element in the set
e int next() return the value of the next element in the array
e void remove()
o remove the last element returned by the iterator.
o Thatis, remove the element that the previous next() returned.
o This method can be called only once per call to next(), otherwise an exception will be
thrown.

Removes from the underlying collection the last element returned by this iterator (optional operation).
This method can be called only once per call to next(). The behavior of an iterator is unspecified if the
underlying collection is modified while the iteration is in progress in any way other than by calling this

method.

So the remove() method actually removes the element returned from the next().

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=167190

remove /& remove | — getNext() get B1U%L, BLE Ui remove i getNext HIELHY E &

ZEAG)

A BB call WO /Z X FE : hasnext() getnext() hasnext() getnext() remove()
e data & [ [1, 2] [3] ]

A4 [E] true, 1, true, 2, void

data & [[1], [3]]

public class Solution implements Iterator<Integer> {
private Iterator<List<Integer>> rowIter;
private Iterator<Integer> collter;

public Solution(List<List<Integer>> vec2d) {

rowIter = vec2d.iterator();

colIter = Collections.emptyIterator();
}
@Override

public Integer next() {
return collter.next();



b

@Override
public boolean hasNext() {
while ((colIter == null || !colIter.hasNext()) && rowIter.hasNext())

colIter = rowIter.next().iterator();
return colIter '= null && collIter.hasNext();
}

@Override
public void remove() {
while (colIter == null && rowIter.hasNext())
colIter = rowIter.next().iterator();
if (colIter '= null)
colIter.remove();

List of List Iterator
4. Display Page (Pagination)
This is well known as OA2.

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=278720

You're given an array of CSV strings representing search results. Results are sorted by a score initially. A
given host may have several listings that show up in these results. Suppose we want to show 12 results
per page, but we don’t want the same host to dominate the results. Write a function that will reorder
the list so that a host shows up at most once on a page if possible, but otherwise preserves the ordering.

Your program should return the new array and print out the results in blocks representing the pages.
Input: An array of csv strings, with sort score number of results per page. example:

"host_id,listing_id,score,city"

"1,28,300.1,San Francisco"

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=299158

linkedlist fJ remove J& O(1), remove ZJ5, Bt — FHaEtmbseS 17, B/ arraylist 7 remove
ZJE, TEUE copy BIRMEE, 2B, BEIRXNERIEEARILE arraylist 19 remove H1, (A
cost It linkedlist BIEIREMBIRZ, ArLAXE B EH linkedlist 1 A~ J& arraylist,

YK traverse iX linkedlist B3, 24K traverse RiX /™ entry Jf HAMINE] page B, X
SE R L EAHBRFEIX S entry, A M H— for loop 2 IRV RI'E, FTLARTFTE remove()
KT o)y rTaetE, b7 HA Nl remove /i —> node BYR ] & A2 FEJ& O(n), X Ptk 4s 1%
1), Ni%#2 search, B Ui visit /5 — 7 node AT IR & 2% /& O(n),{E/& remove 7KiZ & O(1),



IXTE ] worst case BLEMRAE EUIRIANEE, FrA M entry 208 —FL—FERY, SR 1,1,1,1,1,11
IXFER PR IF) page size f& 2, A& 4% FEmk /& O(n*n), i FRARHIR S 2 1,2,3,4,5,6 R 41 page size &
2, INIE] & RS2 O(n),

O(pn-p " 2*m) define p =# of pages, m = page size

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=290914
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1,28,310.6,SF
4,5,204.1,SF
20,7,203.2,0akland
6,8,202.2,SF
6,10,199.1,SF
1,16,190.4,SF
6,29,185.2,SF
7,20,180.1,SF
6,21,162.1,SF
2,18,161.2,SF
2,30,149.1,SF
3,76,146.2,SF
2,14,141.1,San Jose

PLER— sample N, FI75 K%, 1,28,100.3,Paris {7 Host ID, List ID, Points, City. iX /&
Airbnb HRHEH SR SR R — 2K list, SRETATES T, H—1700 5 REF - TURZERS A
list, 13 BiZ2fREA 13 4 List. FTAFA TR Z 7 Ak 3 7. FNZ: B —m % E/n— host 1Y
list, {HJZANFE%A HAh host 19 list FTLURR T, BEERFRIFCE P kgt 7T (AR4E Points,
woedE4) o MASEIRIHIH

i L

1,28,310.6,SF

4,5,204.1,5F

20,7,203.2,0akland

6,8,202.2,SF

7,20,180.1,SF

6,10,199.1,SF
1,16,190.4,SF
2,18,161.2,SF
3,76,146.2,SF
6,29,185.2,SF - X AEAEE T, MIEEA RS — A

6,21,162.1,SF
2,30,149.1,SF
2,14,141.1,San Jose



SEERIA] host ID F post, SEE|— TUH, 40 Btk R EIR[A host ID FY post, BEM I SLIFFHRIER,  HEH
Rk, BRIXFERIER, ANEEAEKE 4 !

P I 2 M mT DLHEIX BE List 2R HLE — > LinkedList B, MELZIEH %5 — HashSet 565 —
M ESE, EEM T 1, KEHEH Remove from the list. AR SLERARBIARER, M LE—
NEIFT,

runtime [Ji% /& O(pageNum * n), space #& O(n)

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=298030

fig R S PRI F TR, B2 T LA, ASRARIEm A B AR LE, OB I S B E R
HEtER, FAn 1,2,3,1,1,2,2, BB S ML, B URE A AR 12,3, B ELI
CE2I0) -, ARt MR B R T K UMt 5 P S, 5 — OE AR AR 1,2,3,1,1 BEAF T

HINAE String[] , FrHE String[], &— LA AN ZERE String FRIT,  HeAn{"Z—ou1, e )

lterator 1) remove J&5¢ & LM, ZHIA DRI B3 remove()NAEH, 15 DRI,
B —EHLARHE remove(), JERKMEGAE T — T, 51 7IHE/Z H$E Arrays.asList(input) 55L& X
iterator T, XFEUL T & E EARNHE remove 19 (RAEIHE B CRIBEREEA, tHWAHEB CAEE0XT
AXF =, =) o Hackerrank 4aiFas A G M, ABOLTH 2262 test Bmilik,

—3 11 4> test cases, EHVATFAILIE W, BRI —HH/ N 5E, HR 441 7 KEFTE]5ERK OA, fH E
SR K 24K candidates £ 72 /N INGER), ZBIHER S —FmEAR, FrlL 96 N/ P i, A
B,

NINI#Z 2] follow up HUHETE, JoibFuft— TR, SRR THE S 2R, 2 O(numOfPage * n)i ik
BEARWE, HREWMNIZEn+n-m+n-2m. &/EGE 0 (n*2) . REHFY worst case HIFI
T, i e dE S5 i

http://www.1point3acres.com/bbs/thread-297778-1-1.html

TEH R B IR A, (EEEFRIRRUEYEA B9 XK P, £ 00 hashset ik LB I, erase
B4 4 H A page Eid, N T {RIE erase & O(1), FTLLZE A linked list S 4 5 AG10 5%
Wil B Y distinct id B8 ZERORTEE, 5L HT MIC K1Y begin()K traverse, X gL RIS AfE
HEZEMid T.

FERE BT, duplicate 1 id NE1R%, FTLLRAESTERSE— L H I duplicate 19 1D, HR 2.
worstcase WE ? RANFATT A 2 /> distinct id, {2 20 S5ids¢, f 01 3R R 10 S50E 2
EffARGZ R REIE & 1212121212 1212121212

B—U1, #—IK traverse, hashset it 12, HE T 2 Nid LUE@ENC R end T, SR/FH[A]
BIFF3k, V572 hash set, ARG EHT 46, o o ¥ 5 WG, JF4AF—R

http://blog.csdn.net/whuwangyi/article/details/43600839




X B RS AN, (H R S SRS 2 M A . TR T A R B 4E YT — > LinkedHashMap 1F
N page FH5ERKEE, H LinkedHashMap BY4FAb & v LAERAIE T A /Y entry 2446 A9 HEFr
19, PTLMR T EMRAERE score BEFFHIMER, 4%, — HABEIMERY host_id, TINFHGT RIFYTT 17
B 5 —A> buffer B, H 75 ZA0E I B A a5 BLAOEHE, 52 H Listiterator, 1 H remove F
add 5%, ZEi L remove, MK AL add,

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=234655

SR — MR, MREETIMASR, ZREIEJSREEESENR 1D fF-
input : 1,2,3,4,1,5,1,2,3,1,3 ; page size : 5

output:

1,2,3,45/1,2,3,1,1/3

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=300128

OA2 F /2 &M% : display list page I/ H . A FMABIERBIIEREH . HEZIE TIRZ A
b 7w AR AG, OV KRS M —FER TV N . IRk T B A0kl ? FI vt igit 5
AT, JHER. FLLT merge k sorted list 1575, B [A] 5 42 Z 42 o(n) + nlogn. /24
AR G5 S HETE —iE, ARG 205 Pt A2 4418 score MR EI/INHEFF 1. TR TR S8 15 )
T. REBEATHE.

public List<String> displayPages(List<String> input, int pageSize) {
List<String> res = new ArraylList<>();
if (input == null || input.size() == 0) {
return res;
¥

List<String> visited = new ArraylList<>();
Iterator<String> iter = input.iterator();
boolean reachEnd = false;
while (iter.hasNext()) {
String curr = iter.next();
String hostId = curr.split(",")[0];
if (!visited.contains(hostId) || reachEnd) {
res.add(curr);
visited.add(hostId);
iter.remove();

}
if (visited.size() == pageSize) {
visited.clear();
reachEnd = false;
if (!input.isEmpty()) {
res.add(" ");
}
iter = input.iterator();
}

if (!iter.hasNext()) {
iter = input.iterator();
reachEnd = true;



return res;
Display Page (f#i%—)

public List<String> displayPages(List<String> input, int pageSize) {
List<String> res = new ArraylList<>();
Iterator<String> iter = input.iterator();
Set<String> set = new HashSet<>();
boolean reachEnd = false;
int counter = 0;
while (iter.hasNext()) {
String cur = iter.next();
String id = (cur.split(","))[0];
if (!set.contains(id) || reachEnd) {
res.add(cur);
set.add(id);
iter.remove();
counter++;

}

if (counter == pageSize) {
if (!input.isEmpty())
res.add(" ");
set.clear();
counter = 0;
reachEnd = false;
iter = input.iterator();

}

if (!iter.hasNext()) {
reachEnd = true;
iter = input.iterator();

b

return res;

Display Page (f&3% ")

5. Calculator
Leetcode FHAELjn] /i

e |eetcode #224 Basic Calculator
e |eetcode #227 Basic Calculator Il

6. Travel Buddy (Buddy List)

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=214074

N NEA — LA EMcity, WRARIE E W cityFnla — N AR LW city (AR ELEE &1 T 50% 915 IR 4115k
fEtravel buddy, PlfRouput—"Mist of travel buddyfZFH{ELEE M iE 1 E A HE



WA MEIPEFF, B hashset 47 H CHYAE i —i@ 5 AL RT LA T, o i slE dike]
1.

AR FR AR /Z a1,a2 ARFN jack BUFAELEEBE & 2/3, HEIL T 50%, jack HtjEFL travel buddy, F
tom PIFRUE & 1/3, %I 50%, BLAE travel buddy, 3EHTIFRA 5%, /5 output ZEARELE
I NBETERTT, for £ — D AA, FRUEE A E SR IX N A RN — RIS IX N I AT A 1)
Wi,

Fe gkt B0 B IR T E hashset B, @ D—EATA A, WFRARLE KT 50%, id F
XK AMBIFRELE, &) sort according to FH{ELEE,

followup FJIEE T 53— recommend 3§ i function, 414 &R travel buddy F8 25 3k i {EAR
AIEEHFEFEANFFFE output 2 2K, BAFRS T,

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=218938

followup/&48 T — P maxfd, #HH/RIFIbuddywishlist EARTESR ) wishlist e - max M i, R
Ebuddy FIR 09 B4 F2 R BEFF

BN /R A wishlist/2 a,b,c,d
buddy1 Fwishlist /& a,b,e,f, H W /NFIIREI—FE, FrLAZ/REYbuddy
buddy2 fJwishlist /& a,c,d,g, H = PFIIRA)—FE, HZ/RAbuddy

] 8 2 i Y — A size e 22 Amax I HERFE IR T 51158 Y size 100, buddylFibuddy2fwishlist 1 RTEAK
Aowishlist /1 3 TR AT LI AHER T, K ~buddy2f B & 8 &, ALl Hbuddy2 89, ALl
HeFEN gef

Ysize 2if, Hitidge H gf

B RHEEE RS, cosine SRFBELEENG 2 FRAJE{11 11000}, buddyl /& (1,1,0,0,1,1,0}, buddy2 /&
(1,0,1,1,0,0,1), you& buddyl ikJ& 2/4, you & buddy2 BEJ& 3/4, 45 F5 T 0 b RIEAER ; RIFH

YR cosine HEFFELE, HEFLAIELA hash H1, @JJ7 buddys,

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=278915

FEMKPER —FIRTT, 4558 — ST, AAKPERIR match AT HES,

followup: recommend at mos k cities. solution: iterate over the city list of the the ranked buddy list from
the first question, output it if it is not already output

public class Solution {
private List<Buddy> buddies;



private Set<String> myWishList;

public Solution(Set<String> myWishList, Map<String, Set<String>>
friendsWishList) {

this.buddies = new ArrayList<>();

this.myWishList = myWishList;

for (String name : friendsWishList.keySet()) {
Set<String> wishList = friendsWishList.get(name);
Set<String> intersection = new HashSet<>(wishList);
intersection.retainAll(myWishList);
int similarity = intersection.size();
if (similarity >= wishList.size() / 2) {

buddies.add(new Buddy(name, similarity, wishList));

by

b

public List<Buddy> getSortedBuddies() {
Collections.sort(buddies);
List<Buddy> res = new ArraylList<>(buddies);
return res;

b

public List<String> recommendCities(int k) {
List<String> res = new ArraylList<>();
List<Buddy> buddies = getSortedBuddies();

int i = 0;
while (k > 0 & i < buddies.size()) {
Set<String> diff = new HashSet<>(buddies.get(i).wishList);
diff.removeAll(myWishList);
if (diff.size() <= k) {
res.addAll(diff);
k —= diff.size();
1++;
} else {
Iterator<String> it = diff.iterator();
while (k > 0) {
res.add(it.next());
k——;

}

return res;

b

class Buddy implements Comparable<Buddy> {
String name;
int similarity;
Set<String> wishList;

Buddy(String name, int similarity, Set<String> wishList) {
this.name = name;
this.similarity = similarity;
this.wishList = wishList;

}

@Override
public int compareTo(Buddy that) {



return that.similarity - this.similarity;

Travel Buddy

7. File System

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=215056

AR B /& 52 # /> function, create Fll get
create("/a",1)

get("/a") //15E 1

create("/a/b",2)

get("/a/b") //153 2

create("/c/d",1) //Error, K AEH) E—Z“/c" HRIFIE
get("/c") //Error, [N “/c" N AELE

follow up /&5 —> watch %%, Fban watch("/a",new Runnable(){System.out.printIn("helloword");})
f&, 4 create("/a/b", 1)%ZfE/a Z FTHI B FAFZE error B9IE, B IATEE“/a” £ callback

e watch("/a",System.out.printin("yes"))
watch("/a/b",System.out.printin("no"))

2 create("/a/b/c", 1), P callback BEER =ik, 4 output yes Fl1 no

F X} java 1Y callback A E R, WiIAE /NEHRGFHIZ T trigger callback #2110, KA BIfE
iR B i % A FE A trie, PTLAELEE hashmap figdk, (HACPRSIFEREER) E— 2 B SAAE /7 i
K5 bug, EEECHIER H RAE O .

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=215981

= method:create(path, value), set_value(path, value), get_value(path)
AR SEIL — MK BUIZFE [ tree:

root
/ \
NA EU
/ 0\
CA us

Hrfroot/Z % A namefivalue, | FHIEED AUE A nameFivalue.

e create(path, value):%5/¥R—“>path, LLAN“NA/MX”, Fhivalue, tban“s3”, I AREEFENA T E
B — > AEMX,  fE 23,



e set_value(path, value): Z5 R —"~path, $kZlpathJM7-, SR/Gsetvalue, & M7 RIFETE,
X [Hfalse;
e get_value(path): 58— >path, E[EIH-7-HIME, &AM FIITEREINULL,

public class Solution {
Map<String, Integer> pathMap;
Map<String, Runnable> callbackMap;

public Solution() {
this.pathMap = new HashMap<>();
this.callbackMap = new HashMap<>();
this.pathMap.put("", 0);

¥

public boolean create(String path, int value) {
if (pathMap.containsKey(path)) {
return false;
}

int lastSlashIndex = path.lastIndex0f("/");

if (!pathMap.containsKey(path.substring(@, lastSlashIndex))) {
return false;

}

pathMap.put(path, value);
return true;

b

public boolean set(String path, int value) {
if (!pathMap.containsKey(path)) {
return false;
}

pathMap.put(path, value);

// Trigger callbacks
String curPath = path;
while (curPath.length() > 0) {
if (callbackMap.containsKey(curPath)) {
callbackMap.get(curPath).run();
b

int lastSlashIndex = path.lastIndex0f("/");
curPath = curPath.substring(@, lastSlashIndex);

}

return true;

b

public Integer get(String path) {
return pathMap.get(path);
¥

public boolean watch(String path, Runnable callback) {
if (!pathMap.containsKey(path)) {
return false;
}



callbackMap.put(path, callback);
return true;

File System
8. Palindrome Pairs
Leetcode fH{LLI] fi: Leetcode #336 Palindrom Pairs

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=143760

PR IR—HE], fRHPTA R pair BHEC CAEZLBX palindrome, b4 ["aabc”, "cbaa"]

e
IERAR S AT, RN A RO E PO — hashset, SRJE A28 i@ word

o FCHSTA RIS, AHEATZEEhashset T AND X4 /i 5 28 &1 3¢, ABZ B K (word /& pairf 5

—)

o MHEITATES, MESEEhashset T AND XM FTRITZE &S, ABZHHE K (word /& pairf 5

=)
AR S P trie IR AL %S, X FE— Bltrie B HOAR 2 T8 R RS K IRT/ A4 T, (B & E
B —FER, JEO(NLA2), LK.

Leetcode A 1RIFHIFEE,

9. Find Median in Large File of Integers

Leetcode FH{EL ] [l Leetcode #295 Find Median from Data Stream LC iX & fiJ& stream input, J& %A 75
154 binary search HY,

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=171676

FEEH AN, o o 'F—F & Divide Conquer, FJJ& merge FII AR KE S,

F8—748 LC Y median from stream, /&5 % heaps KfitfF. o« o FHRKAIT,

EHRZEIRZ G, /NEFITF4E push, i °] LAEFE median 9 upper bound F11 lower bound,
XA — AL binary search T4, . o W THCHAEE, MIT - TFTERE, . . 91—
2o o o Gl T bug, o o KB median NEARm, . o, KERITRE, . . BfERES
KAK T o o



HSHIRZZ XK file FIALER J51E,  1E interview 24/, 48 AN EFRF4 Y hint J& A binary search
B, FATENEXHE(T KA file median of any int will between INT_MIN and INT_MAX, FAtLAFA 150
18 T upper bound F1 lower bound, FAi1%%— T median might be "guess = lower+(upper-lower)/2",
ZEFATAT LIS AR ARXT, B file, BHHE & NEH M element S/ N F1X DL
To MNRIEAIE, X EEE —E K] smallest element in the file that is larger than the guess, Al
BAH BRI T XA guess, AIARTM A binary search B 515, Tt e s) L4&k3|
guess-1. X 23 F 2k, XE, AL OIXNRIERZ 352 scan 32 K fille XA ? X AN 7 Y RA A
EM . AH 2 IR AR AR RZ 2 X 1

W E . BiER— T E, SREXHE, EE— guess ZfaFIEAR, d&M/ME,
smaller /&/NT guess %L H, larger J& KT guess B9EX H, 403 smaller 25T larger, BRHEEL 2K
[F] guess, ANH smaller < larger, ik start = guess, 415 smaller > larger, ik end = mid, X Py Ff
K ugndou RPEER guess I IH & median BYRTRENME,  defi 45 SR start + 1 < end. 85 FHAR1E
start 194X H 210/ end IXMNMEUTIEL B 2 347 FIWT

e I RZ R AR D T35 T start BOECH FOR T35 T end BOECA N2, —FEZA9TRIR BIf
(LEERLIER

public class Solution {
private long search(int[] nums, int k, long left, long right) {
if (left >= right) {
return left;
b

long res = left;
long guess = left + (right - left) / 2;
int count = 0;
for (int num : nums) {
if (num <= guess) {
count++;
res = Math.max(res, num);

}

if (count == k) {
return res;
} else if (count < k) {
return search(nums, k, Math.max(res + 1, guess), right);
} else {
return search(nums, k, left, res);
}

b

public double findMedian(int[] nums) {
int len = 0;
for (int num : nums) {
len++;
}

if (len % 2 == 1) {
return (double) search(nums, len / 2 + 1, Integer.MIN_VALUE,
Integer.MAX_VALUE);
} else {
return (double) (search(nums, len / 2, Integer.MIN_VALUE,



Integer.MAX_VALUE) +
search(nums, len / 2 + 1, Integer.MIN_VALUE,
Integer.MAX_VALUE)) / 2;

}
}
Find Median from Large File of Integers

10. IP Range to CIDR

XN RE RN https://en.wikipedia.org/wiki/Classless_Inter-Domain_Routing
X2 online #:4K T, http://www.ipaddressguide.com/cidr
KAL) L /& group as much IPs as you can. fifiuis 2 ik B A FRIINE, B LA case, BEERME T

code: http://stackoverflow.com/questio ... nge-to-cidr-in-java, MZ&#L & HI AR
FE3K ST ipHtk /RIS B FeoR— N X ]

k40 0.0.0.8 / 30 Ht /& LL0.0.0.8 N #E, HI30{7 AHEAE--) 0.0.0.(0000 10 00)-- 0.0.0.(0000 10 11)

R RAR— S bhip, FnfE, & Hcidr&R X /N X [E] Examples:
Input: 1.1.1.0 4 Output: 1.1.1.0/30

Input: 1.1.1.1 4 Qutput: 1.1.1.1/32 1.1.1.2/31 1.1.1.4/32

Given a string ip and number n, print all cidr addresses that cover that range - This is one of the
problems that is out of left field.

Given an IPv4 IP address p and an integer n, return a list of CIDR strings that most succinctly represents
the range of IP addresses from p to (p + n).

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=282139

BH: 45—/~ 1P ik, H4n"10.10.1.1" - "10.12.235.12", iy H CIDR 7%, CIDR
(classless inter-domain routing) HJZE X FILLH 1T google, Xl i) = B 5 B gk B L i pli— SR 41 Y
CIDR Huht, WliFFETEs M 1P Mbb/ERE (REARD)

Bk

AT BB - FF 4G

Eb4n 1P itk B2 0.0.0.111 - 0.0.0.120, X RiHY ik F R T
1101111 -111

1110000 - 112

1110111 -119
1111000 -120



4R 0.0.0.(11000000)/24 7] LLFE 58N Mk X (A], {H 23X CIDR A& —

HOFEEIRR T, B TR 1P b Ja R, A AFRATEE i — i,

i /N A A AN ORI CIDR 424373 315 CIDR -
-0.0.0.(11000000)/24
-0.0.0.(11100000)/25

FAT AT LIRS ARG 1P HihEYE 2y BIX P4 CIDR 2%, SRJE FF# ARk A%, 2| CIDR 1A FES 1P X

8], D#5E|E A CIDR,

public class Solution {
private long ipToLong(String strIP) {

b

long[] ip = new long[4];
String[] ipSec = strIP.split("\\.");
for (int k = 0; k < 4; k++) {

ip[k] = Long.valueOf(ipSecl[k]);

return (ip[0] << 24) + (ip[1] << 16) + (ip[2] << 8) + ip[3];

private String longToIP(long longIP) {

b

StringBuffer sb = new StringBuffer("");
sb.append(String.value0f(longIP >>> 24));

sb.append(".");

sb.append(String.valueOf((longIP & OxQOFFFFFF) >>> 16));
sb.append(".");

sh.append(String.valueOf((longIP & @x000Q0FFFF) >>> 8));
sb.append(".");

sb.append(String.value0f(longIP & 0x000000FF));

return sb.toString();

public List<String> ipRange2Cidr(String startIp, int range) {

// check parameters
String a = "";
long start = ipToLong(startIp);
long end = start + range - 1;
List<String> res = new ArraylList<>();
while (start <= end) {
// identify the location of first 1's from lower bit to higher

bit of start IP

// e.g. 00000001.00000001.00000001.01101100, return 4 (100)
long locOfFirstOne = start & (-start);
int curMask = 32 - (int) (Math.log(locOfFirstOne) /

Math.log(2));

112 + 1

// calculate how many IP addresses between the start and end

// e.g. between 1.1.1.111 and 1.1.1.120, there are 10 IP address

// 3 bits to represent 8 IPs, from 1.1.1.112 to 1.1.1.119 (119 -
=8)

double currRange = Math.log(end - start + 1) / Math.log(2);

int currRangeMask = 32 - (int) Math.floor(currRange);

// why max?
// 1f the currRangeMask is larger than curMask
// which means the numbers of IPs from start to end is smaller

MNEFEH) CIDR, [RENE



than mask range

// so we can't use as many as bits we want to mask the start IP
to avoid exceed the end IP

// Otherwise, if currRangeMask is smaller than curMask, which
means number of IPs is larger than mask range

// in this case we can use curMask to mask as many as IPs from
start we want.

curMask = Math.max(currRangeMask, curMask);

// Add to results

String ip = longToIP(start);

res.add(ip + "/" + curMask);

// We have already included 2"(32 - curMask) numbers of IP into

result
// So the next roundUp start must insert that number
start += Math.pow(2, (32 - curMask));
}
return res;
¥
¥

IP Range to CIDR
11. CSV parser

Parse an escaped string into csvformat

Input: csvformat

John,Smith,john.smith@gmail.com,Los Angeles,1
Jane,Roberts,janer@msn.com,"San Francisco, CA",0

"Alexandra ""Alex""",Menendez,alex.menendez@gmail.com,Miami,1 """Alexandra Alex

Output: escaped string
John|Smith |john.smith@gmail.com|Los Angeles|1
Jane|Roberts|janer@msn.com|San Francisco, CA|0

Alexandra "Alex"|Menendez|alex.menendez@gmail.com|Miami|1 "Alexandra Alex"

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=154363

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=131724
http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=140445

LA R — TR



Comma

Start O
O Field start &
Scan quoted field

Not quote or
comma

Comma
Not

comme Comma

Scan field Quote

End of line

End quoted field —)O Error

Not
End of line comma
End of line
Finished
public String parseCSV(String str) {
List<String> res = new ArraylList<>();
boolean inQuote = false;
StringBuilder sb = new StringBuilder();
for (int i = 0; i < str.length(); i++) {
if (inQuote) {
if (str.charAt(i) == "\"') {
if (i < str.length() - 1 && str.charAt(i + 1) == "\"') {
sb.append(*\"");
it+;
} else {
inQuote = false;
}
} else {
sb.append(str.charAt(i));
} else {
if (str.charAt(i) == "\"') {
inQuote = true;
} else if (str.charAt(i) == ',") {

res.add(sb.toString());
sb.setLength(0);

} else {
sb.append(str.charAt(i));

b

if (sb.length() > @) {
res.add(sb.toString());
}



return String.join("|", res);

CSV Parser

12. Text Justification
Leetcode fH{LL|] fi: Leetcode #68 Text Justification

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=299301

Given a JSON input with a list of strings, e.g.. more info on 1point3acres.com
{
‘text’: 'first word',
‘text’: 'my second sentence’,
‘text’: 'now it's third’,
2
E?k print HRIXFEAYTE (*%tHHT REBERAA, EAEE K str kD

%D/J VEEREGTR T, BT
SR /NER R T A follow up, T input JSSON B FFAN—A> width, 2R 7E A4 A BRLL width ik, 7o 4gidt,
prmt HH R MR A

________________ +
|f1rst word |
S +
|my second |
| sentence |
S +
|now it's third |
S +
X7,

ZJa /N AR | (BIE A A follow up, X[ERAH B code T, KB FARIERLLF @ input JSON K
list of lists, — %K list & —A4T, 2K list RonBATH—F, FFIFE width (FE24 THE string £
24 B 2.9 width) pr|nt Hj}Ej(*EELﬁ

S SO
| first word |my |
| | second |
| | sentence |
R S +
|now it's third |
P +

KRECGE T FARY:E, /NEFURR 2 *2, SREI TR 2] TR say T bye,



Z Jg— followup ¥t [ 72 IR — AN FLa — AT AT EA 7, HIXE a3 LLA - A [bbbbbb,
bbb], n = 3;

bb-

bb-

bb-

bb-

b__

Zek& AR AT DU TR AL PR [bb-, bb-, bb-, bb-, b2 f& M SREAAD, FeAnmid e vt 7 K (&
RAIGEA G5, HRE LRI FRAERAER T, followup %K%,

Leetcode A 1RAFHIFEE,

13. Regular Experssion
Leetcode FH{LL n] @

e Leetcode #44 Wild Card Matching
e Leetcode #10 Regular Experssion Matching

https://www.mitbbs.com/article t/JobHunting/33067863.html

fEleetcode L iwildcardfliregex matchfJZi &, M T +5, KAWL )7L 2

o *OPEENZATTH
o L ARATERF

o HINEEANZATTR

S — RAKTERE NI HER, A2 aa Fi +a XA & match 2 T 1 2 gk 2N 5 il i /&

i 9O

M iZ s a+il

https://www.glassdoor.com/Interview/1-find-all-the-combinations-of-a-string-in-lowercase-and-
uppercase-For-example-string-ab-and-gt-ab-Ab-aB-AB-QTN_582954.htm

Implement a simple regex parser which, given a string and a pattern, returns a boolean indicating
whether the input matches the pattern. By simple, we mean that the regex can only contain special
character: * (star), . (dot), + (plus). The star means what you'd expect, that there will be zero or more of

previous character in that place in the pattern. The dot means any character for that position. The plus



means one or more of previous character in that place in the pattern.

public boolean regMatch(String source, String pattern) {
if (pattern.length() == @) return source.length() == 0;
if (pattern.length() == 1) {

if (source.length() > 1 || source.length() == @) return false;
return source.charAt(0@) == pattern.charAt(0);
}
if (source.length() != @ && (pattern.charAt(@) == '.' || pattern.charAt(0)
== source.charAt(0))) {
if (pattern.charAt(1) == 'x') {
return regMatch(source.substring(1), pattern) || regMatch(source,
pattern.substring(2));
} else if (pattern.charAt(1l) == '+') {

return regMatch(source.substring(1), pattern.substring(2)) ||
regMatch(source.substring(1), pattern.substring(2));
} else {
return regMatch(source.substring(1), pattern.substring(1));
}

b

return pattern.charAt(1l) == 'x' && regMatch(source, pattern.substring(2));

Regular Experssion

14. Water Drop/ Water Land

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=218383

F—"int array fCEEHR AR BAEK, FTRIHEUKERE, HiA: int] ¥, int KEE, int
BIEALE,

Example:

int[] ¥#$k {5,4,2,1,2,3,2,1,0,1,2,4}

+
++ +
++ o+ ++

+H+ +++ 4+
+Ht+t++++ HH+
e e

012345678901

KE S, BITENLES ->



++ +
+Hwww+ ++
+H+wH++www++
+H+++++Htw++
e e

012345678901

THIAZKIE TR REAWERRAILER. T2 WA LRSI KR T RAL etk 238
E. HEEW T AREAAHAITE DA I8 2
H AT LA Pl R 22 S i B 5 mT LAY

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=279000

XN H 3 open —ended, /& Fllinterviewer i 22 /R fJassumption,
FHJassumption :

e handle the water drop by drop, there are infinitely high walls on the left and right
o KM E, EBIRREENIL, callitleftMost

o M Hleftmost/K Eb T 45 K, leftMost/K+1, done

o InFleftmost/K AR Ih UK, KA, EBIRREAENIE, callit rightMost
o N Rrightmostf/K LI 45 UK, rightMost/K+1, done

o M Hrightmostl) /KA T 46 SR, leftMost/K+1, done

RIEERXNE, ARZ R PG EGRAR I BUE SR, GBI I Z R . KL sEiE 2
Wi, B AR, WBOh 7 RE S AT Bk LA R RS KRR,
ABETR/NEL FTUA—/K 2 — BALERL L U RAFF SN R E AR . . )

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=229065

BNA —NintBAHREZHENEE, —N FTWAME, KIS E, ZKprintth— ME(+RR
Hh, WEIRK)E7R T R R KRS DL

KAk

+W+

+++



char[][] simulateWaterDrop(int[] input, int pos, int volume). 52— — i, KB LA WL
Mpeak, A JLFlcase, 3HFBRE—T, e —WKZE, BEHEE,

public void pourWater(int[] heights, int water, int location) {
int[] waters = new int[heights.length];
int pourLocation;

while (water > 0) {
int left = location - 1;
while (left >= 0) {
if (heights[left] + waters[left] > heights[left + 1] + waters[left
+11) {
break;
}
left—;
)
if (heights[left + 1] + waters[left + 1] < heights[location] +
waters[location]) {
pourLocation = left + 1;
waters [pourLocation]++;
water——;
continue;

}

int right = location + 1;
while (right < heights.length) {
if (heights[right] + waters[right] > heights[right - 1] +
waters[right - 1]) {
break;
¥

right++;
)
if (heights[right - 1] + waters[right - 1] < heights[location] +
waters[location]) {
pourLocation = right - 1;
waters [pourLocation]++;
water——;
continue;

}

pourLocation = location;
waters[pourLocation]++;
water——;

b

print(heights, waters);

}

private void print(int[] heights, int[] waters) {
int n = heights.length;

int maxHeight = 0;
for (int i = 0; i < n; i++) {

maxHeight = Math.max(maxHeight, heights[i] + waters[il);
}

for (int height = maxHeight; height >= 0; height——) {
for (int i = 0; i < n; i++) {
if (height <= heights[il) {



System.out.print("+");
} else if (height > heights[i] && height <= heights[i] + waters[i])

{
System.out.print("w");
} else {
System.out.print(™ *);
¥
}
System.out.printin();
¥
System.out.printin();
¥

Water Drop (both sides have no limited walls)

15. Hilbert Curve

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=146537

FERGBAIR—N(x, v, iter), [FRTE iter X 5K P H7E (x, y) bR B9 IR LA 2

fRIE - WRTE/NE, BT, R Jei H 4 AR A iter JEESE JLARIR, Yol b Al kL pk
MERIREA R, AEEREIZA SRR D ZRIRAFE X AR (), (ESZIEAE | X T = P RER
R, RN AR, 5 BB, 800y) B s (y,x) (55 = BBR) 2 (M-y, M-x) (55 DU SER),
M ZRIRAK %,

https://en.wikipedia.org/wiki/Hilbert_curve

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=220456

Analyze! KIIEE— level B JE 4 4 level-1 AR LAS k) (—FE, BCERIEN A LGFR)

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=229065




HINAZAAR x, y, L iteration, it R MR AEZ DR BIX A AL
454 code, JGiliteration1, 2, 3 MHIK, BLAENERTAILMT, X7, aRerhE, el PURR
A K—im, B A L iteration, steps, IX[AIALAR

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=218196

I AR A 2 U 1 JEL B Ak v A . ARAS AN HE . BELER k2 BE 4 generation J&HI R — > generation
PR, ARBSARRE, SRt 2R W IR SRR 5 {EAR B AL bR B S — T 4k i st A T
-

public int hilbertCurve(int x, int y, int iter) {
if (iter == 0) return 1;
int len = 1 << (iter - 1);
int num = 1 << (2 % (iter - 1));
if (x >= len && y >= len) {
// 3 Shape is identical with previous iteration
return 2 *x num + hilbertCurve(x - len, y - len, iter - 1);
} else if (x < len & y >= len) {
// 2 Shape is identical with previous iteration
return num + hilbertCurve(x, y - len, iter - 1);
} else if (x < len & y < len) {
// 1 Clock-wise rotate 90
return hilbertCurve(y, x, iter - 1);
} else {
// 4 Anti-Clockwise rotate 90
return 3 x num + hilbertCurve(len -y — 1, 2 % len - x — 1, iter - 1);

Hibert Curve

16. Simulate Diplomacy
Also known as OA 4
Leetcode fH{LLIH] f%: Leetcode #289 Game of Life

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=298214

A AZFRE P LLZ: 75 hitp://www.backstabbr.com/rules X ANaEHz G HUN, 244K, BH 17 &1k

NS "ZEN 4 HiG 1 action (MR 2, E N 44)", EL4T“A Paris move London®, action 5 move,
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#h78— T followup: I A/NEF, walk through the solution, 23 #THiAl, SRFEHE R, X5 KRS Al it
M, AR SE, BEOAR R

17. Meeting Time
Leetcode FH{EL ] {l: Leetcode 252/253 Meeting Rooms I/I1

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=146537

25— meetings(5:> meeting 3 start il end B[] 20 %), SR HETEFTA i A\ meeting B [H] BL N A
2, W N R B . B subarray #8EL4 sort 4f,

2& 41

([1, 3], [6, 711, [[2, 411, [[2, 3], 19, 12]]

ix[a]

([4, 6], [7,9]]

T R A i 5 ) T VR AT T X AR SRR S s, SRR R, ARJE I, R R A SR 2
e i S busy_employees Al 1, AR 1, ZEEI4EIK busy_employees ¥ 0 B gt & — AN X
. XFEE 24 O(MlogM), M 25 4t X [a] %k,

follow up: KA T+ k A 53 T2 R A ] BE (20— 1 check count 25 Rt AT LA 1)

public class Solution {
class Point implements Comparable<Point> {
int time;
boolean isStart;

Point(int time, boolean isStart) {
this.time = time;
this.isStart = isStart;

}

@Override
public int compareTo(Point that) {
if (this.time != that.time || this.isStart == that.isStart) {
return this.time - that.time;
} else {
return this.isStart ? -1 : 1;
}

b

public List<Interval> getAvailableIntervals(List<List<Interval>>
intervals, int k) {

List<Interval> res

List<Point> points

= new ArraylList<>();

= new ArraylList<>();

for (List<Interval> intervallList : intervals) {
for (Interval interval : intervallList) {



points.add(new Point(interval.start, true));
points.add(new Point(interval.end, false));
}
}

Collections.sort(points);

int count = 0;
Integer availableStart = null;
for (int i = 0; i < points.size(); i++) {
Point point = points.get(i);
if (point.isStart) {
count++;
if (availableStart == null && i == 0 && count <=
intervals.size() - k) {
availableStart = point.time;
} else if (availableStart !'= null && count ==
intervals.size() - k + 1) {
res.add(new Interval(availableStart, point.time));
availableStart = null;

¥
} else {
count——;
if (count == intervals.size() - k & i < points.size() - 1)

availableStart = point.time;
} else if (availableStart !'= null & i == points.size() - 1
&& count <= intervals.size() - k) {
res.add(new Interval(availableStart, point.time));
availableStart = null;

}

return res;

Meeting Time

18. Round Prices

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=146539

ONE] list MAS 3 AT JLANER 57, ABZER B A, I RAESE G0, BT BRUNAY IR I Ryl R %
W2 JELAB R T floating point, PAJ5 % round REEH, (HZ2EBINE 2 round, FOHAH round FAN
Bk, RSN

# base price 100 => 131.13 =>131

# cleaning fee 20=> 26.23 =>26

# service fee 10=> 13.54 =>14

# tax 5=> 65 =7
# => 177.4E =>178E
# sum 135S =>178.93E => 179E

IR0 LS T, 2570 input list of floating points, 23K output list of integers, J#i /& LA T ™
constraint, FEEFIER Round(x1+x2+... +xn)U &5 - —FF, {HJE minimize output Fil input A4 X {E 7=



Z T

#Input: A = [x1, x2, ..., xn]

# Sum T = Round(x1+x2+... +xn) ; 178.93E => 179-google 1point3acres
# Output: B=[y1,y2, ....,, yn]

# Constraint #1: y1+y2+..4yn=T
# Constraint #2: minimize sum(abs(diff(xi - yi)))

2445

#A=[1.2,2.3,3.4]
#Round(1.2+2.3+3.4)=6.9=>7
#1+2+3=>6
#0.2+403+04=1.0

#1+43+3=>7
#0.2+0.7+04=1.3

#1+2+4=>7
#0.2+0.3+0.6=1.1
ATLA[L,2,4150(1,3,3] 2 4F

ST floor(x) IS S SE it H An SR AT A 4T floor MITEIR 222 /D, $2HR ceil LLFE 75 BN M FE HE
Fe, D0 B /N R 55 BITAT

X RE - Fehn[a.2, 2.5, 3.6, 4.0]

A FES R AL T2 int, arr = [1, 2, 3, 4]

IRIF BTN D AN T F RERIE LAY sum. round(1.2+2.5+3.6+4.0) - (1+2+3+4) =1, fb 1 PR
WAt

PUEE SR B AN arr BB PES— T, 22{6/2[0.2, 0.5, 0.6, 0]. Tl 1M AE R K ERNE, FIE
index BEF T — Fit&[2, 1,0, 3], X NN G Tk i

KRAFRAT A BT — T, Jexb index = 2 B9, AT LR e HOsk 45 502 (1, 2, 4, 4],

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=156061

Given an array of numbers A = [x1, x2, ..., xn] and T = Round(x1+x2+... +xn). We want to find a way to
round each element in A such that after rounding we get a new array B = [y1, y2, ...., yn] such that

yl+y2+...4yn = T where yi = Floor(xi) or Ceil(xi), ceiling or floor of xi.

We also want to minimize sum |x_i-y_i]|

T B Z AT DA ok
Hedt A element 34T round (a5 /NI IRIAEEST round  ceil B¢ floor)
SRIEMEINE S anffn T AHNZEE b T KEE /) X

mME T K ONRERE) , FATAT LA HREE B ceil 1Y element,



FEHRIX AN element FII'E floor BZEAE M/ NEIKBEN
MINEIREL X 4™ elements B floor 5t 7] LAASE T,

SRR A x B floor, #RJE T-sum (floor (x) ) fHEIZ4 x FHE ceil
HEWR N AT R BB, MK B/ ceil, FCANLAY floor, S sk ARG 45 5,

4R A selection sort 9514 FI LK E] O(n)

public class Solution {
public int[] roundUp(doublel] arr) {
int n = arr.length;
NumWithDiff[] arrwWwithDiff = new NumWithDiff[n];
double sum = 0.0;
int floorSum = 0;
for (int 1 = 0; 1 < n; i++) {
int floor = (int) arrl[il;
int ceil = floor;
if (floor < arrl[il]) ceil++;
floorSum += floor;
sum += arrl[il;
arrWithDiff[i] = new NumWithDiff(ceil, ceil - arr[il);
}

int num = (int) Math.round(sum);
int diff = num - floorSum;
Arrays.sort(arrWithDiff, new Comparator<NumWithDiff>() {
@Override
public int compare(NumWithDiff nl, NumWithDiff n2) {
if (nl.diffWithCeil <= n2.diffWithCeil) return -1;
else return 1;
}
1)
// Arrays.sort(arrWithDiff, (a, b) —>
(Double.compare(b.diffWithCeil, a.diffWithCeil)));

int[] res = new int[n];
int i = 0;
for (; i < diff; i++) {
res[il = arrWithDiff[il.num; // X485t ceil
}
for (; i < n; i++) {
res[i] = arrWithDiff[il.num - 1; // # ;A floor
}
return res;

b

class NumWithDiff {
int num;
double diffWithCeil;

public NumWithDiff(int n, double c) {

this.num = n;
this.diffWithCeil = c;

Round Prices



19. Sliding Game (8 Puzzles)

You're given a 3x3 board of a tile puzzle, with 8 tiles numbered 1 to 8, and an empty spot. You can move
any tile adjacent to the empty spot, to the empty spot, creating an empty spot where the tile originally

was. The goal is to find a series of moves that will solve the board, i.e. get [ [1, 2, 3], [4, 5, 6], [7, 8, - ]...

http://www.1point3acres.com/bbs/thread-203769-1-1.html

SEHL—sliding game, LS AR/ EEELAIIRFRILE K%, JuER, —38p i, M1-8, — 4K
Heze sk, SREHTELZ FELSLIDEIR R, XA EUEHE) BINE M, JosLilix DNk, REXNT—
AMEEAIBOARD,  BEARAE i H k.

https://en.wikipedia.org/wiki/15 puzzle

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=291630

8 puzzle, MiAE & B REFEEES, H Il Ture False,

EHEHT & dfs, . . FIEREREZE [ EK, stackoverflow T, o o o SATHIERARE], ,
fETHX S bfs + pg . KRFE/NDIXH,

ML &#128532; A5 Lol , KU HITIRI THI (R AR IRAT, BIXKET.

BRI R VERERR HE T 22, kT A* B IDA*TRLIE

public class Solution {
private final int[][] dirs = {{1, o}, {eo, 1}, {-1, o}, {0, -1}};
private int[][] matrix;
private int m;
private int n;
private int originX;
private int originY;
private String recovered;

public Solution(int[][] matrix) {
this.matrix = matrix;
this.m = matrix.length;
this.n = matrix[0].length;
int[][] recoveredMatrix = new int[ml[n];
for (int 1 = 0; 1 < m; i++) {
for (int j = 0; j < n; j++) {
if (matrix[il[j] == 0) {
this.originX i;
this.originY = j;

b

recoveredMatrix[il [j] = i *x n + j;
}
}

this.recovered = getMatrixString(recoveredMatrix);



public boolean canSolve() {
Queue<int[]> items = new LinkedList<>();
Queue<String> matrix = new LinkedList<>();
Set<String> visited = new HashSet<>();

String stringMatrix = getMatrixString(this.matrix.clone());
items.offer(new int[]{originX, originY});
matrix.offer(stringMatrix);

visited.add(stringMatrix);

while (!items.isEmpty()) {
int size = items.size();
for (int 1 = 0; 1 < size; i++) {
int[] curElement = items.poll();
String curMatrixString = matrix.poll();
int x = curElement[0];
int y = curElement[1];
if (curMatrixString.equals(recovered)) {
return true;
¥

for (int k
int xx
int yy

0; k < dirs.length; k++) {
x + dirs[k][0];
y + dirs[k][1];

if (xx <@ || xx>=m || yy <0 || yy >=n) {
continue;
b

A

int[]1[] newMatrix =
recoverMatrixString(curMatrixString);

int temp = newMatrixI[x][yl];

newMatrix[x] [y] = newMatrix[xx][yyl;

newMatrix[xx] [yy]l = temp;

String newMatrixString = getMatrixString(newMatrix);

if (visited.contains(newMatrixString)) {

continue;
}

items.offer(new int[]{xx, yy});
matrix.offer(newMatrixString);
visited.add(newMatrixString);

}

return false;

b

public List<String> getSolution() {
String[] pathWord = {"Down", "Right", "Up", "Left"};

Queue<int[]> items = new LinkedList<>();
Queue<String> matrix = new LinkedList<>();
Queue<List<String>> path = new LinkedList<>();
Set<String> visited = new HashSet<>();

String stringMatrix = getMatrixString(this.matrix.clone());
items.offer(new int[]{originX, originY});



matrix.offer(stringMatrix);
path.offer(new ArrayList<>());
visited.add(stringMatrix);

while (!items.isEmpty()) {

int size = items.size();

for (int 1 = 0; 1 < size; i++) {
int[] curElement = items.poll();
String curMatrixString = matrix.poll();
List<String> curPath = path.poll();
int x = curElement[0];
int y = curElement[1];

if (curMatrixString.equals(recovered)) {
return curPath;
¥

for (int k
int xx
int yy

0; k < dirs.length; k++) {
x + dirs[k][0];
y + dirs[k][1];

A

if (xx <@ || xx>=m || yy <0 || yy >=n) {
continue;
b

int[]1[] newMatrix =
recoverMatrixString(curMatrixString);

int temp = newMatrixI[x][yl;

newMatrix[x] [yl = newMatrix[xx][yyl;

newMatrix[xx] [yy]l = temp;

String newMatrixString = getMatrixString(newMatrix);

if (visited.contains(newMatrixString)) {

continue;
}

List<String> newPath = new ArraylList<>(curPath);
newPath.add(pathWord[k]);

items.offer(new int[]{xx, yy});
matrix.offer(newMatrixString);
path.offer(newPath);
visited.add(newMatrixString);

}

return new ArraylList<>();

b

private String getMatrixString(int[][] matrix) {
StringBuilder sb = new StringBuilder();
for (int 1 = 0; 1 < m; i++) {
for (int j = 0; j < n; j++) {
sb.append(matrix[i]l [j]).append(™,");

}

return sb.toString();

b

private int[][] recoverMatrixString(String str) {



Stringl[] parts = str.split(",");
int[][] res = new int[m] [n];
for (int i = 0; 1 < m; i++) {
for (int j = 0; j < n; j++) {
res[i] [j] = Integer.parseInt(parts[i x n + jl);
}

}

return res;

Sliding Game
20. Maximum Number a Night You Can Accommodate

Leetcode FH{EL ] fi: Leetcode 198/213/337 House Robber I/11/111

Provide a set of positive integers (an array of integers). Each integer represents number of nights user
request on Airbnb.com. If you are a host, you need to design and implement an algorithm to find out the
maximum number a night you can accommodate. The constrain is that you have to reserve at least one

day between each request, so that you have time to clean the room.

Given a set of numbers in an array which represent number of consecutive days of AirBnB reservation
requested, as a host, pick the sequence which maximizes the number of days of occupancy, at the same
time, leaving at least 1 day gap in between bookings for cleaning. Problem reduces to finding max-sum

of non-consecutive array elements.
//15,1,1,5]=>10

The above array would represent an example booking period as follows -

//Decl-5
// Dec5-6
// Dec6-7
// Dec7-12

The answer would be to pick dec 1-5 (5 days) and then pick dec 7-12 for a total of 10 days of occupancy,

at the same time, leaving at least 1 day gap for cleaning between reservations.
Similarly,

/113,6,4]=>7
//14,10,3,1,5]=>15



R ITIE:
e f(0) = nums[0]
e (1) = max(num[0], num[1])
o f(k) = max( f(k-2) + nums[k], f(k-1) )

public int rob(int[] nums) {
if (nums == null) return 0;
int n = nums.length;

if (n == 0) return 0;

if (n == 1) return nums[O0];

int f1 = nums[0]; // exclude max

int f2 = Math.max(nums([0], nums[1l]); // max so far

for (int i = 2; i < n; i++) {
int £ = Math.max(fl + nums[i], £f2);
fl = £2;
f2 = f;

}

return f2;

Maximum Number a Night You Can Accommodate
21. Find Case Combinations of a String
Leetcode FH{LL n] @il

e |eetcode #46 Permutation and Leetcode #47 Permutation Il.

e |Leetcode #78 Subsets and Leetcode #90 Subsets II.

Method that gives all permutations of a string. Involving examination of subsets.

https://www.glassdoor.com/Interview/1-find-all-the-combinations-of-a-string-in-lowercase-and-
uppercase-For-example-string-ab-and-gt-ab-Ab-aB-AB-QTN 582954.htm

Find all the combinations of a string in lowercase and uppercase. For example, string "ab" >>> "ab",
"Ab", "aB", "AB". So, you will have 2”n (n = number of chars in the string) output strings. The goal is for

you to test each of these strings and see if it matchs a hidden string.

private boolean isBitSet(int n, int offset) {
return (n >> offset & 1) != 0;
}

public List<String> ermutateString(String text) {
List<String> res = new ArraylList<>();
if (text == null || text.length() == 0) {
return res;

char[] chars =
for (int i = 0,
char[] curr

= (int) Math.pow(2, chars.length); i < n; i++) {

text.toCharArray();
n
= new char[chars.length];



for (int j = 9; j < chars.length; j++) {
curr[j] = (isBitSet(i, j)) ? Character.toUpperCase(chars[j]) :
chars[j];
}

res.add(new String(curr));
¥

return res;

Find All Upper, Lower and Mixed Case Combinations of a String

22. Menu Combination Sum

http://www.1point3acres.com/bbs/thread-289032-1-1.html

R, BRI AT A ARY &, SRAZEIA .

Given a menu (list of items prices), find all possible combinations of items that sum a particular value K.

(A variation of the typical 2sum/Nsum questions).

Return the coins combination with the minimum number of coins. Time complexity O(MN), where M is

the target value and N is the number of distinct coins. Space complexity O(M).

KHEEREBFXEG AN 2RISR AN AR, R R L 2 2 2 B

IEE ﬁ*/I\ interface (vector prices, double total) iX B T8 /K & i FH (il Fralgo, #PEMEA THISE B
ZJa I, X BRI NJE doubleZR I 2N,  FTLATE register &EEE’JHTf%AljjjJTﬁhEXTA,
T b AT CHIRA R double i = HHILIX FIF L) . Xt /Edouble/float FE AL 7EH#AE
Byt AR IR . B IMEDRUERE . CHRRIRII AT A B, A X AT EFZ L) BT
double a=1.5, b =1.1213; double ¢ = 2.6213; IXNH{E a+b-c JEARZET0H0 BARA)BRARE 21X
computer arch, B, , . HSSYRXBEAB] TSR, ARy RTRE] T ARG IS A
offer iz A IR it AR A Bl T JXEE#EYXTEI@]O YRR A NIRRT, . o BRI

ARRSE, DN X AR B RS R R A — R ARk B N R e, R B R ) IR E TR A R AR
i 25 X FERI I 7 X (abs(a+b-c) < 0.0000001) 2 3H), B THaxt N ECEER R LL— 4
KAV, Hean#hselli10000, AL EBEAEREH, o

public class Solution {
private void search(List<List<Double>> res, int[] centsPrices, int start,
int centsTarget,
List<Double> curCombo, double[] prices) {
if (centsTarget == 0) {
res.add(new ArraylList<>(curCombo));
return;

}

for (int i = start; i < centsPrices.length; i++) {
if (i > start && centsPrices[i] == centsPrices[i - 11) {
continue;



}

if (centsPrices[i] > centsTarget) {
break;

}

curCombo.add(prices[il);
search(res, centsPrices, i + 1, centsTarget - centsPricesl[i],
curCombo, prices);
curCombo. remove(curCombo.size() - 1);
}

b

public List<List<Double>> getCombos(double[] prices, double target) {
List<List<Double>> res = new ArraylList<>();
if (prices == null || prices.length == 0 || target <= 0) {
return res;
b

Arrays.sort(prices

int[] centsPrices = new int[prices.length];

for (int i = 0; i < prices.length; i++) {
centsPrices[i] = (int) Math.round(prices[i] * 100);

b

int centsTarget = (int) Math.round(target x 100);
);

search(res, centsPrices, 0, centsTarget, new ArraylList<>(), prices);
return res;

Menu Combination Sum

23. K Edit Distance
Leetcode FHAELjn] /i

e |eetcode #72 Edit Distance

e |eetcode #161 One Edit Distance

Find all words from a dictionary that are k edit distance away.

public class Solution {
private void search(String curr, String target, int k, TrieNode root,
int[] prevDist, List<String> result) {
if (root.isLeaf) {

if (prevDist[target.length()] <= k) {
result.add(curr);

} else {
return;

}

}

for (int 1 = 0; 1 < 26; i++) {
if (root.children[i]l == null) {
continue;
}



int[] currDist = new int[target.length() + 1];
currDist[@] = curr.length() + 1;
for (int j = 1; j < prevDist.length; j++) {
if (target.charAt(j - 1) == (char) (i + 'a')) {
currDist[j] = prevDist[j - 1];
} else {
currDist[j] = Math.min(Math.min(prevDist[j - 1],
prevDist[j]l), currDist[j - 1]) + 1;
¥

by

search(curr + (char) (i + 'a'), target, k, root.childrenl[il],
currDist, result);

b
¥
public List<String> getKEditDistance(String[] words, String target, int k)

List<String> res = new ArraylList<>();
if (words == null || words.length == 0@ || target == null ||
target.length() == 0 || k < @) {
return res;

}

Trie trie = new Trie();

for (String word : words) {
trie.insert(word);

}

TrieNode root = trie.root;

// The edit distance from curr to target

int[] prev = new int[target.length() + 11;

for (int i 0; i < prev.length; i++) {
prev[il = i;

b

search("", target, k, root, prev, res);

return res;

b

class TrieNode {
TrieNode[] children;
boolean islLeaf;

public TrieNode() {
children = new TrieNode[26];
}

b

class Trie {
TrieNode root;

public Trie() {
root = new TrieNode();
}

// Add a word into trie
public void insert(String s) {
if (s == null || s.length() == 0) {



return;

b
TrieNode p = root;
for (int i = 0; i < s.length(); i++) {
char c = s.charAt(i);
if (p.children[c - 'a'] == null) {
p.children[c — 'a'] = new TrieNode();
¥
if (i == s.length() - 1) {
p.children[c - 'a'].islLeaf = true;
¥
p = p.children[c - 'a'];
b

K Edit Distance

24. Boggle Game

Leetcode FH{EL A i : Leecode #79/#212 Word Search 1/

http://www.1point3acres.com/bbs/thread-191416-1-1.html

e 45 5% — 2d matrix of letters Fil— ™ dictionary, X —2% path & & 2 M1 T 7L
word &

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=158462

AR — board, — dict iR HE & Z HEH £ /04> valid 5.6 H BLFE X 4™ Board L1

http://www.1point3acres.com/bbs/thread-220456-1-1.html

Trie + DFS for search
DFS for max num

RO EC R EOR W, B SRR AN A B AT R B AL B S, AR AR A L] LAY
FeAUAE 73 A8 DFS,  Z3 B A BUZ AN $um], B — sl BB ARSI, et

http://www.1point3acres.com/bbs/thread-158462-1-1.html

Hen R BAEAE T — 1A apple, B8Z. a, p, p, |, @ X JLAS char IO EREEG S H T. FESIR—D
board, —/> dict iIL/RIFF R ZHEH £V 4> valid #.3d] (HIFEIX > Board i

I LeetCode #212 Word Search I [ X HI7E T £ — 5% path @& e 2 WIAFAE T -4 word 4>
B, BT, AWML, #EET word search I 1Y :



o JH trie+DFS £:&|— word ZJ&, wordCounter 1 1, MIX4 word /5 — 1 character B
& P trie+DFS k2285 £k, FMEABARNLERSH L T, SR ATE trie 4K E] match,

o trie+DFS £ BT A words AJ B H BLIAL B P 41, S8 J5 AR B A 53] HS B 2 Z0 A o il A
DFS, 2 hlEARTUX AN, TS —NFal, B A5, etc,

public class Solution {
private final int[][] dirs = { {90, 1}, {1, 01} {0, -1}, {-1, 0} };

private String path2Word(char[][] board, List<int[]> curPath) {
StringBuilder sb = new StringBuilder();
for (int[] coor : curPath) {
sb.append(board[coor[0]] [coor[1]]);

return sb.toString();

b

private void search(List<List<int[]>> paths, char[][] board, int x, int vy,
Trie trie,
boolean[] [] visited, List<int[]> curPath) {

String curWord = path2Word(board, curPath);

ReturnType flag = trie.search(curWord);

if (!flag.hasPrefix) {

return;
)

if (flag.hasWord) {
paths.add(new ArrayList<>(curPath));

}
int m = board.length;
int n = board[0].length;

for (int[] dir : dirs) {
int xx = x + dirl[e];
int yy = y + dir[1];
if (xx <@ || xx >=m || yy <0 || yy >=n) {
continue;
}

visited[xx][yyl = true;

curPath.add(new int[] { xx, yy });

search(paths, board, xx, yy, trie, visited, curPath);
curPath.remove(curPath.size() - 1);

visited[xx] [yy] = false;

b

private void searchWords(List<String> res, List<String> curWords,
List<List<int[]>> paths,
int start, boolean[][] visited, char[][] board) {
if (start == paths.size()) {
if (curWords.size() > res.size()) {
res.clear();
res.addAll(curWords);
}
return;

}

for (int i = start; i < paths.size(); i++) {



b

boolean canUse = true;
for (int[] coor : paths.get(i)) {
if (visited[coor[@]][coor[1]1) {
canUse = false;
break;

by

if (canUse) {
for (int[] coor : paths.get(i)) {
visited[coor[0@]][coor[1]] = true;
}

curWords.add(path2Word(board, paths.get(i)));

searchWords(res, curWords, paths, i + 1, visited, board);

curWords. remove(curWords.size() - 1);

for (int[] coor : paths.get(i)) {
visited[coor[@]][coor[1]] = false;

}

public List<String> findMostStr(char[][] board, Set<String> dict) {

board);

b

List<List<int[]>> paths = new ArrayList<>();

Trie trie = new Trie();
for (String word : dict) {
trie.insert(word);

}
int m = board.length;
int n = board[0].length;

for (int i = 0; i < m; i++) {
for (int j = 0; j < n; j++) {
boolean[] [] visited = new boolean[m] [n];
visited[i] [j] = true;
List<int[]> curPath = new ArraylList<>();
curPath.add(new int[] { i, j });
search(paths, board, i, j, trie, visited, curPath);

}

List<String> res = new ArraylList<>();
searchWords(res, new ArraylList<>(), paths, 0, new boolean[m][n],

return res;

class ReturnType {

b

boolean hasPrefix;

boolean hasWord;

ReturnType(boolean hasPrefix, boolean hasWord) {
this.hasPrefix = hasPrefix;
this.hasWord = hasWord;

class TrieNode {

char c;



boolean isEnd;
Map<Character, TrieNode> children;
public TrieNode(char c, boolean isEnd) {
this.c = c;
this.isEnd = isEnd;
this.children = new HashMap<>();

b

class Trie {
private TrieNode root;
public Trie() {
this.root = new TrieNode(' ', false);
}

public void insert(String word) {
TrieNode cur = root;
for (int i = 0; i < word.length(); i++) {
char c = word.charAt(i);
if (!cur.children.containsKey(c)) {
cur.children.put(c, new TrieNode(c, false));
¥

cur = cur.children.get(c);

by

cur.isEnd = true;

}

public ReturnType search(String word) {
TrieNode cur = root;
for (int i = 0; i < word.length(); i++) {
char ¢ = word.charAt(i);
if (!cur.children.containsKey(c)) {
return new ReturnType(false, false);
}

cur = cur.children.get(c);

by

return new ReturnType(true, cur.isEnd);

Boggle Game

25. Minimum Cost with At Most K Stops

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=215824

HERZMIGE, X kstop, HIRIEEEKL. 451R £ tuple <depart city, dest city, cost> 1\ Zflight,
HH 2517 city A, city B, maxStops, #x//xcostfJpath

Given a flight itinerary consisting of starting city, destination city, and ticket price (2d list) - find the
optimal price flight path to get from start to destination. (A variation of Dynamic Programming Shortest

Path)



Output list of strings representing a page of hostings given a list of CSV strings.

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=220456

A st E BFS — 2 — 214,

min cost of flight from start to end if allowed at most k connections. FL401 :

A->B, 100,

B->C, 100,

A->C, 500.

I kot 1 RIS, EARARIE A, CHIE, B A->B->C fichf, RS BFS BUMFIE,

public int minCost(List<String> lines, String source, String target, int k) {
if (lines.size() == 0 || k < 0) {
return 0;
¥

Map<String, Flight> nodes = new HashMap<>();
for (String line : lines) {
String[] s = line.trim().split(",");
String[] t = s[@].trim().split("->");
String from = t[0];
String to = t[1];
int cost = Integer.valueOf(s[1].trim());
if (!nodes.containsKey(from)) nodes.put(from, new Flight(from));
if (!nodes.containsKey(to)) nodes.put(to, new Flight(to));
nodes.get(from).nextNodes.put(to, cost);

b

boolean find = false;

Queue<String> q = new LinkedList<>();
Queue<Integer> cost = new LinkedList<>();
q.offer(source);

cost.offer(0);

int stops = -1;
while (!q.isEmpty()) {
stops++;
if (stops > k + 1) {
break;
)

int gSize = qg.size();
for (int i = 0; i < gSize; i++) {
Flight curr = nodes.get(qg.poll());
int currCost = cost.poll();
curr.minCost = Math.min(curr.minCost, currCost);
if (curr.name.equals(target)) {
find = true;
continue;

by

for (String next : curr.nextNodes.keySet()) {
int nextCost = currCost + curr.nextNodes.get(next);
if (nextCost < nodes.get(next).minCost && (stops < k || stops
== k && next.equals(target))) {
g.offer(next);
cost.offer(nextCost);



}
return find ? nodes.get(target).minCost : -1;
Minimum Cost with At Most K Stops

26. String Pyramids Transition Matrix

Given a list of leaf nodes in a pyramid, and a map which indicates what's the possible parent node given
a left and right node. Return true if the one of leaf node could turn into the root node, Otherwise, return
false.

Example:

root

/ \

X X

/\ /N

X X X

/ \/ \/ \
A B C D
Map:

left: A| B | <C | D

right-------------------"-------------
A B|[AorC|] D| A
B D [BorcC|] A |
C B
D

Note:1. If left child is B, right child is A, the parent node could be B or C

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=212660

SN XA T, EEWABCDEF, a4 1 map, WX TEEAHT 7% THIN
fo, SR RATRENE, BlAN £ A4S B =) AC, EMAEEIEEE _EHE AT AL A B
Co ZURZBLILANTRE, XMWY root 1 A& B RER X LN FREZ —

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=146537

TR . BIR—ADTRER 4 matrix, FRRIZ DT DAL — DT (A WX AT EE
BN TRF, JF SO nondeterministic), AN TN A 1A 2 a5 (B T BR— > s50) R
A, BN, FR—DNFHBRMREA DR ERISEIREHEZ YES, & NO

Rl lfZ bR SR, WS PT A RERES . ROV GRS L4 SRR B ER, AT ERER
KL YES, BEAIKIEE NO, i BRI MG R BEHY......



B TEANE, BATATEARE — DT R FHEE 2 A — TRk,

eangy— AR ERACt, RIS, HERESE RE Bt 2 AT,

AR U ABCC", R EAVEHANTRAER KA H T AT, HANFERRPN
KEASANTHR, M RA LA ATHE, TR ER S 2 A RIF S 5,

£ ABCC %5, ZERWwT (ANTFELEE) -

A

AB

ACA

ABCC

B

C
AB
CCA
ABCC

HE,

AR ERG —DNEFERIER, — MR FRF R &b R (FhE) , BESRRMWABA TR
MATEETIF B HER 25 B2 1k 25 5L,

ket ABCC, A, TIJIK[F] true

AC, B, NIX[H] false,

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=293594




LRI AL SRR B ER, I &t — DR A N<string, bool> ) map i i 4 /il F-
FFHJE yes or no, IXJE K call check_string IR B 5L 23 77 25 5% true or false 1 string £l map B
i, MIERFLLER call check_string 40 5 HE filfi 21— F£ ) B b A A 4% 45 recursion T,

Nondeterministic Trellis Automata
(https://users.cs.duke.edu/~ola/courses/cps149/problems/week2/trellis.html)

public class Solution {
Map<String, Set<Character>> map;
private Map<String, Boolean> cache;
final String SEP = "###";

Solution(String[] line) {

cache = new HashMap<>();

map = new HashMap<>();

for (String s : line) {
String[] splitted = s.split(",");
String key = splitted[@] + SEP + splitted[1];
Set<Character> set = new HashSet<>();
for (char ¢ : splitted[2].toCharArray())

set.add(c);

map.put(key, set);

b

private void getNextLevel(List<String> res, String curr, int start,
StringBuilder sb) {
if (start == curr.length()-1) {
res.add(new String(sb));
return;

¥

for (int i=start; i<curr.length()-1; i++) {
String key = curr.charAt(i) + SEP + curr.charAt(i+1);
for (char c : map.get(key)) {

sb.append(c);

getNextLevel(res, curr, start+1, sb);

sb.setlLength(sb.length() - 1);

b

private boolean search(String input, String current) {
if (cache.containsKey(input)) return cache.get(input);

if (current.length() == 1) {
cache.put(current, input.contains(current));

return cache.get(current);

}

List<String> cands = new ArraylList<>();
getNextLevel(cands, current, @, new StringBuilder());
for (String cand : cands) {
// System.out.println(cand);
if (cache.containsKey(cand)) return cache.get(cand);
boolean res = search(input, cand);
if (res) {
cache.put(cand, true);
return true;



}

return false;

b

public boolean check(String input) {
cache.clear();
return search(input, input);

String Pyramids

27. Finding Ocean

Leetcode FH{EL r] /8 :
e Leetocde #200 Number of Islands
e Leetocde #305 Number of Islands Il
e Leetocde #694 Number of Distinct Islands
e Leetocde #711 Number of Distinct Islands
e |Leetocde #695 Max area of Islands
e |Leetcode #463 Island Perimeter

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=141746

/**

* Given: An array of strings where L indicates land and W indicates water,

* and a coordinate marking a starting point in the middle of the ocean.

%

* Challenge: Find and mark the ocean in the map by changing appropriate Ws to Os.
* An ocean coordinate is defined to be the initial coordinate if a W, and

* any coordinate directly adjacent to any other ocean coordinate.

*

* void findOcean(String[] map, int row, int column);
%

* String[] map = new String[]{
* "WWWLLLW",

* "WWLLLWW",

* "WLLLLWW"

*%

* printMap(map);

%

* STDOUT:

* WWWLLLW

* WWLLLWW

* WLLLLWW

*

* findOcean(map, 0, 1);

*

* printMap(map);



*

* STDOUT:

* O00LLLW
* OOLLLWW
* OLLLLWW

*/

public void floodFill(char[][] board, int i, int j, char oldColor, char
newColor) {
if (board[il[j] != oldColor || board[il[j] == newColor) {
return;
}

Queue<Integer> queue = new LinkedList<>();
queue.add(i * board[0].length + j);
board[i] [j]1 = newColor;

while (!queue.isEmpty()) {
int pos = queue.poll();
int m = pos / board[@].length;
int n = pos % board[0].length;

if (m + 1 < board.length && board[m + 1] [n] == oldColor) {
queue.add((m + 1) * board[0].length + n);
board[m + 1] [n] = newColor;

)

if (m - 1 >= 0 & board[m - 1][n] == oldColor) {
queue.add((m — 1) * board[0].length + n);
board[m - 1] [n] = newColor;

)

if (n + 1 < board[@].length && board[m][n + 1] == oldColor) {
queue.add(m * board[@].length + n + 1);
board[m] [n + 1] = newColor;

)

if (n - 1 >= 0 && board[m]l[n - 1] == oldColor) {
queue.add(m * board[@0].length + n - 1);
board[m] [n - 1] = newColor;

Finding Ocean

28. Preference List

Leetcode FHLL M) #: leetcode #269 Alien Dictionary

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=218938

WP IR T, FNANEA —DpreferencefIHEF, TEAREN N AW preference I ™
52 B preference M HEF

YHFMIEFFfREAR A list of list, XLERlpreference list,



il

[[3,5,7,9],12,3,38],I[5, 8]

SRIE IR BEARSE X N A, B — > S i preference list, 31X X — il B 1% 5 2 :
[2I 3' 5[ 8[ 7’ 9]

IR A IX 8 8 RTREA M & SR % Y, 20T break tie by person 1, it & i bfs WO {gE & kAL 4G
¢ person 1 list AL,

public List<Integer> getPreference(List<List<Integer>> preferences) {
Map<Integer, Integer> inDegree = new HashMap<>();
Map<Integer, Set<Integer>> nodes = new HashMap<>();
for (List<Integer> 1 : preferences) {
for (int i = 0; i < l.size() - 1; i++) {
int from = l.get(i);
int to = l.get(i + 1);
if (!nodes.containsKey(from)) {
inDegree.put(from, 0);
nodes.put(from, new HashSet<>());

if (!nodes.containsKey(to)) {
inDegree.put(to, 0);
nodes.put(to, new HashSet<>());

if (!'nodes.get(from).contains(to)) {
Set<Integer> s = nodes.get(from)
s.add(to);
nodes.put(from, s);
¥
inDegree.put(to, inDegree.getOrDefault(to, @) + 1);
b
¥
Queue<Integer> q = new LinkedList<>();
for (int k : inDegree.keySet()) {
if (inDegree.get(k) == 0) {
g.offer(k);
b

}
List<Integer> res =
while (!q.isEmpty())
int id = g.poll();
res.add(id);
Set<Integer> neighbors = nodes.get(id);
for (int next : neighbors) {
int degree = inDegree.get(next) - 1;
inDegree.put(next, degree);
if (degree == 0) qg.offer(next);

new ArraylList<>();
{

iy
b

return res;

Preference List



29. Minimum Vertices to Traverse Directed Graph

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=273389

KRB T B A 1 3 5 R 28 SR R T A R 0 1 B0 5 1 (RS XA AL T 1RAC B AR kY
YA A e NGB A M FH4 sce BIRRAR TR 2 AL A AR

R — R MR AZ R BE R FTAT s AR P 1 SR D i 20 A T 2L i B 4

AH sce AL B 22 R P8 Hosizmk & — > hashmap 1£ 54> node #YJ source fix /5 A JLA source X
source P SE AR B R ILTE R BRI EE /& source SXJE — BEAE T I HRYE dfs EEAAF RIIEE
BN CLAAE hashmap B T HREt R ZATEA Wit T Ll source BV RIS T BT LA skip A~
FNEFRULHIIRBEF [ 2

AL AP 55 circle WO TR AENIE /5 2 b FE,  FLAnil ([0, 11, [1, 01, [3, 11, [3, 21, [2, 111 HH {5

F &k DFS BBMES 4 T unordered_set 1 7 — F&BILIL T A4 ZZ[[0, 1], [1, 0], [3, 1], [3,
2], [2, 1]]

BB MERIAL process 55—k set Tt RA 0 IR 1 SR5 #2745 process [1, 01X N A TE map L T E
BEwkid 3, 192 7E map HLATLA DFS % Ji set LA 3210, Hugh/Eift DFS HL S WLEI[1, 01 A Bkid i

SRR RS AR O Ak, AR Ak, AR Ak

SYFFEE -

03 : toposort JEHRELE M AER NE, B4 FTAALS 5% D MR 04 5k
(5 FF LSRR ) [1,2],[2,1)

1Sk 1 BRRLRE /AN E Sk AT EAE i (1,2]12,3]13,2]

23k ¢ P E RSk T L D ([1,2),12,31,13,21,14,3])

S

LACFEE (— 3k, P A NENER A, 23 result 28, X5 dfs 8035 bfs 55
A, SRIEH— set fFATA VML) A, EEBIEIM set FH IR

2. F LT SL AR, 4k4E dfs/bfs | NI set IS, EE| set A, TR dfs BTHLFFLER SN

2| result B (F & set 1) concurrent modification error)

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=212885

0 1 2 3 4 5 6 7 8 9
¢ro, o, o, o, 0, 0, 0, 0, O, OF,
iro, o, o, 0, 0, 0, 0, O, O, O],
2o, o, 0,0, 0, 0, 0, 0, 0, 17,
3o, o, 0, 1, 0, 1, O, 1, O, OF,
4o, o, o, o, 0o, 0,0, 0, 1, OF,
5o, o, o, 0, 0, 0, O, O, 1, O],
6o, o, o, o, o, 0, 1, 0, 0,07,
’ro, o0, o0, 0, 1, 0, 0, 0, O, O],
8o, o, o, o, 0, 0, 0, 1, 0, OF,



X8 M) —) test case, HRIxDWIASUEIITA S, &RZ0, 1, 2.

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=220456

AT LA B Je i SCC (Strongly Connected Components), X, #E/& 3R/ Kosaraju's algorithm, 2 i,
https://en.wikipedia.org/wiki/Kosaraju%27s_algorithm, X/EHU%H ANEER) component, /&K,

M iZ & 3K List of all vertices without in-degrees.

JERGEX X A EERE 28T, EREETA A ANER R, MATA SR set A, R[] set.size()
Ry

public class Solution {
private void search(Set<Integer> res, Map<Integer, Set<Integer>> nodes,
int cur, int start,
Set<Integer> visited, Set<Integer> currVisited) {
currVisited.add(cur);
visited.add(cur);
for (int next : nodes.get(cur)) {
if (res.contains(next) && next != start) {
res.remove(next);
}

if (!currVisited.contains(next)) {
search(res, nodes, next, start, visited, currVisited);
}

b

public List<Integer> getMin(int[][] edges, int n) {
Map<Integer, Set<Integer>> nodes = new HashMap<>();
for (int i = 0; i < n; i++) {
nodes.put(i, new HashSet<>());
b

for (int[] edge : edges) {
nodes.get(edge[0]).add(edgel1]);
}

Set<Integer> visited = new HashSet<>();
Set<Integer> res = new HashSet<>();
for (int i = 0; 1 < n; i++) {
if (!visited.contains(i)) {
res.add(i);
visited.add(i);
search(res, nodes, i, i, visited, new HashSet<>());

}

return new ArraylList<>(res);

Minimum Vertices to Traverse Directed Graph



30. 10 Wizards

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=277494

There are 10 wizards, 0-9, you are given a list that each entry is a list of wizards known by wizard. Define
the cost between wizards and wizard as square of different of i and j. To find the min cost between 0

and 9.

wizard[0] list: 1, 4, 5 wizard[4] list: 9 wizard 0 to 9 min distance is (0-4)"2+(4-9)"2=41 (wizard[0]

->wizard[4]->wizard[9])
RIS, B/ NIRRT ] B £ A R R

g —T, #E djstra 7] @

BFS J& n] LAY, I [A] & % FE FE Dijkstra i& /)y

I RARAE wizard NHSC R )1E, BB EASE L, —ANFEH dp BEFTEL T, M8 44,
ARAUERTE, &P AR AR BIESLHL, FEETT, Dijkstra m*log(n).

B R bfs RUERIB L, HIRERU, —PDRTEMSIE MMM EEAE XD, GMETIERES
Bk, )

7

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=278915

TIEH P EEMXES, BEKHBEEEE X

AL S e N EEIT, oK o B 4 AR R BB
0 5iNiH1 5Ffn2 5

15ANIH3 &

2 5INiR3 5, 45

3 5N 4 &

B2 0 BE| 4 B =R IREEAH: 0->1->3->4, 0->2->3->4, 0->2->4

B/ MR IR SE 0-52->3->4  (3-2) A2+ (4-3)72=2

X2 KOG B 0 S N AR AN AR 2R T, R hE AR A SIS A AR AR B L AL T
AT ok

%l —h), XAETCA EIE A K 2 AR RADEE, M NER AR, X 2 i !

iy, 1w E A SRR AR AR T AR BE RO AR AR AN TR S B, BT LR OB - 200 |
(2-0) A2 (BB IEAFIX — ORI A S0,
TIEARYETC [ R B

public class Solution {
public List<Integer> getShortestPath(List<List<Integer>> wizards, int
source, int target) {
if (wizards == null || wizards.size() == @) return null;
int n = wizards.size();



int[] parent = new int[n];
Map<Integer, Wizard> map = new HashMap<>();
for (int i = 9; 1 < n; i++) {

parent[i] = 1i;

map.put(i, new Wizard(i));

map.get(source).dist = 0;
Queue<Wizard> pgq = new PriorityQueue<>(n);
pg.offer(map.get(source));
while (!pqg.isEmpty()) {
Wizard curr = pg.poll();
List<Integer> neighbors = wizards.get(curr.id);
for (int neighbor : neighbors) {
Wizard next = map.get(neighbor);
int weight = (int) Math.pow(next.id - curr.id, 2);
if (curr.dist + weight < next.dist) {
parent[next.id] = curr.id;
pg.remove(next);
next.dist = curr.dist + weight;
pg.offer(next);

}

List<Integer> path = new ArrayList<>();
int t = target;
while (t != source) {
path.add(t);
t = parent[t];
}
path.add(source);
Collections.reverse(path);
return path;

10 Wizards

31. Number of Intersected Rectangles

You have a plain with lots of rectangles on it, find out how many of them intersect.
AKJii /& rectangle intersection + union find

Leetcode FH{EL A /ll: Leetcode #323 Number of Connected Components in an Undirected Graph

public class Solution {
private boolean intersect(int[]1[] r1, int[I[] r2) {
return r1[0][0] < r2[0][0] && r1[0][1] < r2[0][1] && ri[1][0] >
r2[e]l[0] & r1[11[1] > r2[0][1] ||
rifel[0] < r2[1]1[0] && r1[@][1] < r2[1]1[1] && ri[1ll[0] >
r2[11[0] && r1[1][1] > r2[1][1];
¥

private int find(int val, int[] parents) {
while (parents[vall != val) {
val = parents[vall;
b



return val;

b

public int countIntersection(int[][]1[] rectangles) {
int[] parents = new int[rectangles.length];
for (int i = 0; i < parents.length; i++) {
parents[i] = i;

for (int i = 0; i < rectangles.length; i++) {
for (int j = i + 1; j < rectangles.length; j++) {
if (intersect(rectangles[i]l, rectangles[j])) {
int rootl = find(i, parents);
int root2 = find(j, parents);

if (rootl != root2) {
parents[rootl] = root2;
}

}

Set<Integer> set = new HashSet<>();

for (int i = 0; i < parents.length; i++) {
set.add(find(i, parents));

}

return set.size();

Number of Intersected Rectangles

32. echo TCP client

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=165457

)i R Hserver AR, B . o B ELEUD AU A,  HORTEA U —F,  1E BRI
MBI, BRI, P, BOF Wi, FaEiE,

clientf]server & )i 3R A LA R 274

o STATUS - /REXH ILFE AR FEFNER T AR & 775
e THROTTLE 50.1 - iX 2545 4 J2 “THROTTLE” 1 b — 3,  FornIRIMAESFER I 10 & /iR
50.1

EXAMPLE: b4l fEtelnet

STATUS
0.0 0.0 (IXAT &serveri Ay, #H—PMEFRRIES, F_NDHFRREE)
THROTTLE 50.1 (X ME4 K H serveryxﬂﬁL



STATUS
50.13.75
STATUS
50.115.98

Kt IX R, (G2 Y HSLE . B5ETCP client/i, ZRIEE — A 7 s B L 205K — /P target
speed I Y G EE R KE, R TEWEZEH o

e — A A RUE SR IZXAS delta?) T deltaldl B ZIHHIEEER R o 0 0 0 0 0 o BET, WELILLS
%UfﬁTO o o o o o Hﬂ_l‘EﬂZ:ﬁzT

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=148195

TE— server B —/NAER simulator, BRAE T —> socket iIEiL %, RJERILL call A

AP : getStatus() P] LAFF2I Y RiTAEE FEFNLE L, setStatus(DILE L) /] LMESRENEE, X T —
ANEFE, XA E S ARWE R 2SR 8| — N E s, ) @2 25—/ wrapper function 7%
W E R AE 29mph, BEEAE T+ L8 P RIS H, XA T BB 3] B4 0E socket,
)5 code BEFET, (R ANEM, MRS Tka 4, BmilEid TRy, iRk
B, R EIR R AR, AR copy £ T T3,

IR FE 23

Vir2-Vor2=2as

— YRS INEE S 40— BB So U ROH BE 1T T 98] T FEE 1~ 7 55 T I 3fe DA s 2 ) 2
5o

Va=(Vo+Vt)/2=V(t/2)

S 40 i A5 T B S ORI B, AT t/2 IS % R I 5

S$2-S1=at"2
— AR ST IR B2 IE ), 5N B Sk HOAH S5 (R B 2 P d o R FE S 40 0l A2 S 1,52, U A i R RS 1
ZE%ET ath2

33. Guess Number

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=189016

SR

ALY, AL BT M 1Ele.



PR — AP A —MRFERIET, KA JUAL R SEAT Y,
e BOm B2 1234, SEROBCFE1111, WERE
T 1212, KE[E]2

FORGAFEFF Z A HIX DAPILUE, R [EFA S T 45 B 4.

1111,2222,3333,4444,5555
5 I 4 DT 6666 R FEk, [KA guess(6666) = 4 - ( guess(1111)+...+guess(5555) )

iR

alalalal, ala2a2a2, ala3a3a3 [F¥E aladadad ~ iR

HAR R E =N s (REHES)

HHE 3 T mhAE T8 N T, M HIX—% alalalal AHA api, F—#EA
B2 Wk EEE N, HREIE 3 N AA

[FIEREE =58 1 0k - [EEH ANy, B8R 2 MerAS

sorry S IUREIEA 1 IR, Ja M ROPES I — A )T At e
AELEE - TR R TREAHE

TIE—TF : Helset82 R 5+2+1=8 &

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=290126

S0 — DA AT

il
# correct code: 3264
# GUESS 1111 => 0 0 (no correct digits
# GUESS 1214 => 2 0 (digits 2 and 4 are correct and on correct position)
# GUESS 6111 => 0 1 (digit 6 is present, but on a different position)
# GUESS 6211 => 1 1 (digit 2 is not counted towards the second count!)

B e BE R — S server |,
# START\n
# GUESS 1111\n=>00
BERNmE, LA REHET, BRI T

XA bull and cow R—Ff, i1 f& server BRI E , FRAY H A ZARYRIX /N E] & S hs H R 2T
e RATLAGE T BB 20,

R A 7 V48R candidates = {0, 1, 2, 3, 4, .., 9}(/H priorityqueue FJRELLES {HE),
#5488 7 0000, 1111, 2222... J%CHILTAQHSW“E’J X[Al{E (a, b), #X/5 cnt=a+b, [FIAf



candidates M (a =0, b = 0)AJ7c3E, priorityqueue LA cnt M/NEIKHERF,

i T R AR XXXX 227 DU ML 42 available, "] LA candidates MR IENAIAARE, LA ent B
REJTF6%E, HoAn ent=2, BESH available (7&K ent 5 K digit FJJTER, @1 T2, AAXX, AXAX,
AXXA...JX Ff N 2% avaialble BN E BRI 2 4 - ent, KK HTT, {HS/ZE R RALE available FI{7 & & 77,
I INMEFRZEE], HIEEA T n K1 String.

public class Solution {
String target;

public Solution(String target) {
this.target = target;
¥

private int guessServer(String guess) {

int res = 0;

Map<Character, Integer> targetMap = new HashMap<>();

for (char c : target.toCharArray()) targetMap.put(c,
targetMap.getOrDefault(c, @) + 1);

Map<Character, Integer> guessMap = new HashMap<>();

for (char c : guess.toCharArray()) guessMap.put(c,
guessMap.getOrDefault(c, @) + 1);

for (char k : guessMap.keySet()) {

if (targetMap.containsKey(k))
res += Math.min(guessMap.get(k), targetMap.get(k));
}
return res;

b

private String genNumber(List<Integer> guessed, int c) {
StringBuilder sb = new StringBuilder();
for (int i = 0; i < guessed.size(); i++)
sb.append(guessed.get(i));
for (int i = guessed.size(); i < 4; i++)
sb.append(c);
return sb.toString();

b

private String genNumber(List<Integer> guessed) {
if (guessed == null || guessed.size() == @) return "";
StringBuilder sb = new StringBuilder();
for (int i = 0; i < guessed.size(); i++)
sb.append(guessed.get(i));
return sb.toString();

b

public String guess() {
List<Integer> res = new ArraylList<>();
List<Integer> cands = new ArraylList<Integer>(){{
add(1);
add(2);
add(3);
add(4);
add(5);
// insert(6);
h
// System.out.println("\nstart to guess " + target + " ...");
// System.out.println("res: " + res);



// System.out.println("candList: + candlList);
int counter = 0;
Iterator<Integer> iter = cands.iterator();
while (iter.hasNext() && res.size() < 4) {
int cand = iter.next();
counter++;
int guessedCount = res.size();
String guessCand genNumber(res, cand);
int guessRes = guessServer(guessCand);
// System.out.println("cand: " + cand);
// System.out.println("guessRes: " + guessRes);
if (guessRes == guessedCount) {
iter.remove();
} else if (guessRes > guessedCount) {
for (int i=qguessedCount; i< guessRes; i++) {
res.add(cand);
}

iter.remove();

} else {
// something wrong here
return genNumber(res);

}
}
if (res.size() < 4) {
for (int i=res.size(); i<4; i++)
res.add(6);
}

// System.out.println("guessed " + counter + " times");
return genNumber(res);

Guess Number

34. Tagged as AirBnB at Leetcode

Leetcode _[4325° AirBnB [ in] @ (H A FERT I HH B . A N\ i S8 350 H i il AL, (HoK

AN S

Leetcode #1 Two Sum

Leetcode #2 Add Two Numbers (#415 Add Strings)
Leetcode #20 Valid Parenthese

Leetcode #23 Merge k Sorted List

Leetcode #108 Convert Sorted Arrays to BST
Leetcode #136/#137/#260 Single Numer I/11/11l
Leetcode #160 Intersection of Two Linked List
Leetcode #190 Reverse Bits

Leetcode #202 Happy Number

Leetcode #217/#219/#220 Contains Duplicates
Leetcode #221 Naximal Square (#85 Maximal Rectangle)
Leetcode #385 Mini Parser

—. Design questions

2
3

5]

éj\



1. RSS 1] %24 / Feed System

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=295447

it —A RSS T RGMIER IS, JFRA L. B MR XA Tables, T34H) Column,
T RR Ny TR A RIS,

553K, &—HE ) —H diginto.Lbanii, ZnHF% % search based on name /B4 77, A0S i 3 H R
BT EL TR, R R REFER Rss provider (B2 70, WHRARZE sort by time, AVREARHERS 2 3R
51?2 =/ name FI3E5], —/ time 193EF|, FTRE A, FKICFEA DB B ITHEK M H A L
e, kA L DB . HEH— &4 DB AT,

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=299066

w1t — RSS feeder, HIEZ user Fil publisher, user A LL subscribe/unsubscribepublisher, 75> H
PSR BERER B — N TSR, 13 B EH P subscribe 9 publisher RATHIM 1, 3K $% publish
time k¢, T publish FUTEFIZR TG, BH rTRE R RINIR 2 NS HE1R 2%, LA cache,

sharding 22519, MiAE L ksbiE# S, REBEIXLE AT 0L —1 single DB instance
B Y table Fi1 column HYRETH, R EAIR — D CEEMNH RS T, A B ANSIRE
T, IRELGBET, singleindex I K1E, #iH composite index, fFUEL LB E, &F 10 28h
fUgh Bt 1] R [ BUER M) 52 T, REMEEEMMSE T, EREGERE T, A4ekm 17, 10 5280
1RV A LA T

2. key value storage
BT, IERHE— 1N W9 NoSQL PEEE4F T, dynamo, reddis, cassadra,
3. Bank System

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=304012

design —/> bank system, BR# B2 AT 4 —FF, ZESCIL— deposite(id, timestamp, amount),
withdraw(id, timestamp, amount), check(id) --> return int; 3 7} B2 — 4> balance 4 function,
XA function IRHLE YA AR K —FE, ZERTE logn BN 8] & 42 & N5ERK; 28 S 402 D,
startTime, endTime, {H& E & startTime & N & ENR, AT IR — startTime 0, 1X /M [A]
RN /B AE 10 BYTE, /R% balance HUBT [A] Be iz A& M 10 FFhs, MIAEM 0 FFih, B anE
startTime f& 1ELA91E, BRZ. startTime LM 0 JFAAA ; X2 BIfEm4 RIS, FHRIMIERE
H— map itk timestamp 5 amount 2 [A] X N Fe R, (HIZIXFER — 4 0] @48 /& hashmap
TR TR, FTL AR ESE H hashmap BUIE, REGFACHER, XFER A 8 24 BBt AR &
log N 1o RONUER IR R R, 40 A AW AEE A % RERIX &, s BN SN —
Mapx<id, List<timestamp>>> 7@ T AL/ FH 7 B9Bf [A] 28, 31X 5L suppose FH P 28 5 A [H] 2 it 7 1)
(R E N T) |, FTELXFERATER list LA PR, BEARTRESINOPET T, EHH binary
search BL4f T ; BRI m KL TiXA A8, 5 L code, HILEERSG KL, HEE, . » B, &
FEUERE BN T



4. BitEERY

[T 22 RS, I N5 K FF 26+ 15 5 5 FFRAE T L 3 2015 8 B2 5 IR B9 [T, 78 s 2225 i
NEEEHIM I . 75 Z 11— micro service, 75K/ ZF front end decouple, XL /Z front end
engineer 7£ L E T 1.2, g ZEH CHRIE, X1 service BLBE HITHISERLFNF, FHALEX —m
BB B, FIEHTE, code change & /& M 1975 2 commit 114 B9, FEHS TN 1E, send request
X1 service, [HIIA B ZAAFEIN A, FELAH18 Z1117] decouple from front end, i H #% /5 feedback
A& high level Z5/2 A] LI, (HAZ ARG T5Aa1E 5 LG, o 01— 1SPIE5H service, i/ FA 1K
B SLHRG, » BMES IS af LIS E X link http://nerds.airbnb.com/launching-airbnb-jp/.

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=229065

Design a internationalization service

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=290595

BT A B 2 BB PR R, R A B E AR, MR E =N, mri LFEIT, &
BEE A P AR ER B LE, A TR ACKRMEREX AN X AR TR AMAES, AFEAhA]
] blog Fl B LA FIMAL, (HIXANE B Fim i e 52 R EVE LTI, FIRE = RN F %A Blin s
o8, b Skak ) XA html BB 21— service call $8J5 i~ & syntax, FARIRX ARk —1T
code call f5¥i APl REEAT T4, RIE4 T/ASE, il 25 rr R BRI AN A rT RIS 4, ARER
BN EET, IREETE API BZEABXUHE T e, ARUWARGEL design, BEEX—1T
code BELE, A —FRUNFATIRIE M, ] TIRZ “XIE UL X AR 8. ot
design FJANHRAIE, APL &I — MR, AiH S, JEULHTIn MI%E A4 B AR design
AFWE 2 HRE RO UUEE RN — AT, R AR — T schema 4F T, BLA — 4
VR BORTEEFIEO RN, FREL KT table, ANERHL M T BA T2 TRk B b i T, EEE
—ANFHEFEIEH column #00 L, J1T index F1 composit primary key, L H] HIE), ek i /B
I BELl user BHERFERIAR PG TR, K15 network 1RIB/EL T, XANRMECEEAT LR T, FHtik
EZIENKZ, 4 webserver [GIEINI T 4 cache, 2XJ5 ik internal network 7] LAZE HE #iX 4 cache SR /&
external user -\F cache NE MM, IMAEABARE AR ENE M ZEL T, M i network FH124H1 2L
make call ", AT R LAFEN W #5 cache — T ERIEAD AR PE RERESL TG call, HAAY/E L AEET L call —
R, IR RV BT 2., REEEEE R T,

IR S FF 26415 5, FFATE T AL 24 = 8 5 2 75 s i W BT, 748 77 246 A a5 &
o FE B —1 micro service, 75K/EZF front end decouple, #LJE front end engineer 7 % 245
)G, FEEHCHRIE, X1 service BLRE H1THIZELTHEE, FRBLAR — B B4, FHIEH
&, code change & J& M G52 commit 12 I, 7EHS M, send request E1X 1 service, [H7 15
B K NAFEIN A, FEHE AN H138 41T decouple from front end, 77 H #% /5 feedback /& high level /2
AJLLEY,  (H AR 1T A FRE 2 S, o IRITT— 1N EBHY service, W e B ARG 2 LAY,
H A EE I 11 AT A5 X link http://nerds.airbnb.com/launching-airbnb-jp/

BEAR T 2 DR BRI R TR SR, translator B 2 — > portal Fir N BT H ABE
B EERIER, RIEXEAEE TS STt perf FREE & A I translator FHPRET T &L
I BT RETIRAIE RFEF N (WHRARAE cache 191E) T GHRESG MK FTLAR 2R senior
AT AR AN & R T



0. Cross Functional Questions

HER[LIZFE 7 engineer blog http://nerds.airbnb.com/

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=165457

i AT, AmFARE R, IR SR K RS, xRS REiENE
U H I Z local BI3CAL .

1) what bring you to airbnb?

2) what can you teach your co-woCrkers after you get in?

3) describe a person whom you admire most

4) describe your experience with airbnb

5) where have you been to?

6) what will you do if you win a lottery such as Powerball?

7) what is the biggest fear in your life?

8) how do describe Airbnb to a people back to 2003?

9) if you have a book that writes about your whole life, will you read it? why?

10) if you have a time machine, and you can either go back or go forth, will you choose
to go back or to go forth?

11) among all the features of airbnb, what do you want to improve?

12) IR — PR I SR R Hrisky N, IR B A M, 45 5%

13) fIR R AR E 8RR feadmire [—N A

What can you teach me in a few minutes?

Tell me about why you want to work here.
describe you team

how to work with disagreements.

What’s your role in a team

why you love traveling

where do you see our company in 10 years

I A AR e A5 TR BLE T IS MR L B, BRI DASEAR, IRICIIAT A B R4S th NG A 1 AN (5

R,

) 7 HEZ n) R, ERAE AN AT, ARAFEEE I T Fktairbnb UL LR, e EC

H R ff A I [ character 42 /54 fllairbnb S fk.conform [

H AR R R Z IR, RERAR RS, A ERRVERE R A TG s .
(RIS ZIRUE, FRIFLENRAF L) SR JGairbnb [flcore value tHEFF, 8

H & AR kst .

When working in teams, describe a time you made the biggest sacrifice.

Describe the best team you've worked with.

Describe a company that you think is doing really well and explain why.

Describe one of the creative things you have done recently.

I A R 843 TR DUAE T I R e Bk bk, AR T DLTE AR, ARIEAT 4 B iR 48 A N id i



TANUF RIS 22 58

A R L — A RA RGBSR, RN —FARE TR TR
I, B EA NIARFEA & FE AT = 4 IR KR

PR S SIRINAT A ThRE? WIRRRLE S SURIRINRE, IRIAT 4 2 RS Bk SSUR,
SRR 2

ok i) B scary [ 17 2

hostf£8 )3 ?

YR XFairbnb 2 7] FLAF P9 FE 1 T 2

A A4 oA A 7] H7E H hospitality ?

airbnb [ 55 A4 feature R 5 15 % b B 2

W H R ARIRE N AT A feature?

o THEZ ), HORANFEAE, RN 73X airbnb SCAL I AR, FRXTH O
PR A P characters2 /E 4 flairbnb 3 ft.conform ]

HO AR R R, IRERAFEM S, R R RAR AR A TR R
(FRIf SRR, FRIFLENAF L) SR JGairbnb [fcore value tHEFF, 8
H & il Eakstar .

YR E 2 ERfi# airbnb ) let anyone belong to anywhere [ mission

IRWAHR challenging {AAI—EAEMAY T, X B R o LR U LA N ik 2 Ams, &
25 AN BFR R A sense of humor

PRAEE B —4: meaningful 193

A A ot N5 IR ) R B LR R AR B AR K

il

the most hospitable person you met, the biggest trade off in your project.

]2 A 1 SR AR 2 [ 52 TR Airbnb JESEHT 7, “Airbnb BN ERUAYAFE]”, AR AR BT
B, “TRARENRWE, “FRABRNGF N XA E G L

http://www.1point3acres.com/bbs/forum.php?mod=viewthread&tid=174191

e What made you decide to apply for airbnb

e What do you suppose Airbnb to become in the future 5 years

e How do you think Airbnb has been working on that direction(¥g 2 F. 1 [A1% /1) in the past 5
years

e |f Airbnb disappeare one day, what do you think should be written on Airbnb's tomb.

e What do you do outside of school and work.

e What will you suggest for Airbnb's development in China

o A LFAREFFIRMARL, (B A T

o IR&GI N NI AFHIALID TEA T

Talk about a failure
Talk about a time you made sacrifice for the team



describe you team
how to work with disagreements
what’s your role in a team

why you love traveling
where do you see our company in 10 years



